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Question Number : 1 Question Id : 54592722019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GET IT ON
Google Play

5459271309

DIRECTIONS: From the given responses, find the missing

letter in the series.

LO TW BE ??

Options:

1. = IL
2. % IT
3. « HL
4. v M

Question Number : 1 Question Id : 54592722019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ferder: fou a1@ fashedt & & AT & o[cd 376 FHT AT FL:

LO TW BE 77

Options:

1. = IL
2. = [T
3. = HL
4. v JM

Question Number : 2 Question Id : 54592722020 Question Type: MCQ Option Shuffling: Yes
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Correct Marks: 1 Wrong Marks: 0.25

Find out the next term.

A5D, F15], K25N, ?

Options:

1. = N445U
2. = L44P
3. v P35§8
4.« M441P

Question Number : 2 Question Id : 54592722020 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U FATT T

ASD, F15l, K25N, 7?

Options:

1. = N445U
2. = L44P
3. v P35S
4. = M441P

Question Number : 3 Question Id : 54592722021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong term in the series?

AD,BH,CL,.DP.ET

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. AD
2. BH
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3. DP
4. CL

Question Number : 3 Question Id : 54592722021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT H el Tg Tel?

AD, BH,CL,DP.ET

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. AD
2. BH
3. DP
4. CL

Question Number : 4 Question Id : 54592722022 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the odd one out from the given alternatives.

Options:

1. = Father

2. » Mother

3. = Sister

4. v Mother-in-law

Question Number : 4 Question Id : 54592722022 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fgu 7w fgFeul & O vy F1a HT

1. = TOdr
2. % HIAl
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3. % S@ad
4, v 9F

Question Number : 5 Question Id : 54592722023 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given alternatives.

Options:

1. = FH
2. % QS
3, LN
4.+ TR

Question Number : 5 Question Id : 54592722023 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev av fashedl & favA HT e |

Options:

1. = FH
2. = QS
3. = LN
4. v TR

Question Number : 6 Question |d : 54592722024 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose or find odd pair of words:

Options:

1. = (Bowling : Cricket)

2. * (Goalkeeper : Football)
3. # (Libero : Volleyball)

4. v ( Point Gaurd : Hockey)

Question Number : 6 Question Id : 54592722024 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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few 9 Aredl # @ AyHE NS A9 F

Options:

1. = (SiTeldT : fshohe)

2. = (AMelhIIT : Fealel)
3. = (folaer : aielaien)
4. v (dqiSc S : ikl

Question Number : 7 Question Id : 54592722025 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTION: From the pairs of words you are to select the pair
which is related in the same way as the words of the first pair.

FOOD : HUNGER :: WATER :

Options:

1. = Rest

2. = Night
3. v Thirsty
4. = Bed

Question Number : 7 Question Id : 54592722025 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forder: feeafeli@a uead A BT 710 Thedt & O @afdd esar i
AT

HISTel @ T o Tlell :
Options:

1. = 3NTH

2. = Id
3. v
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4. = foeaw

Question Number : 8 Question Id : 54592722026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTION: In the following question, select the related
letter/word/number from the given alternatives.

COMB : HAIR =

Options:

1. = Surgery : pain

2. v Knife : vegetables
3. * Book : author
4. = {up : saucer

Question Number : 8 Question Id : 54592722026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fader: fTrafei@a wea & GU 710 @weur & @ gafda osar i
a0 |

RET : dTel =
Options:

1. = redIfehedr (ToH) : ¢
2.JEI'IT=E:¥I"|%3I'€IT

3. = TFdS : R

4, » T ; T

Question Number : 9 Question Id : 54592722027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

| Adda2d7 | \

DIRECTION: In the following question, select the related
letter/word/number from the given alternatives.

DAC : EBD :: HEG :

Options:

1. = KIH
2. = JFH
3. = JHF
4, v IFH

Question Number : 9 Question Id : 54592722027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foacer: fAeaTai@d wed & f&T a0 fAeedr A 8 Tealedd
IETT/RTSS/TTIT T gﬁvl

DAC : EBD :: HEG :

Options:

1. = KIH
2. = JFH
3. = |HF
4. v IFH

Question Number : 10 Question Id : 54592722028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, if the word GOLDEN is coded as
GLEODN, then how is the word PLATINUM coded in that
language?

Options:

1. « PAUILTNM
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2.« LAIULTNM
3. = PALUITNM
4. v PAIULTNM

Question Number : 10 Question Id : 54592722028 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

GET IT ON
‘ Google Play ‘

Ush foafead $e o H, Ifd GOLDEN efsg 1 GLEODN &
FT H FHifed fopar S1ar &, ar 39 #19T & PLATINUM e1sg Rt

FO FET AT FR—ET?

Options:

1. = PAUILTNM
2. = LAIULTNM
3. = PALUITNM
4. v PAIULTNM

Question Number : 11 Question Id : 54592722029 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, if Drama is called as Green, Green
1s called as Time, Time 1s called as Yoga, Yoga is called as
Team, Team is called as Cricket, Cricket is called as Bat and
Bat is called as Crowd, then what is the colour of grass in that

language?
Options:

1. = Dram

2. = {ricket

3. v Time

d

4, = Crowd

Question Number : 11 Question Id : 54592722029 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Uk TATeId SIS HATNT H, ITS olceh hl Aol hal SATdT &, Il
I AT Hal ATdT §, GHT hl AW T ATAT &, AT I STH
el ST &, SIH ST Tohehe gl SATAT &, Tshehe hl S hal ATl
& 3T S r 5 FE a1 §, T 3T AT H =T T 6T F:1
&7

Options:

1. = olch
2. = Tohehe
3. v T
4. = o3

Question Number : 12 Question Id : 54592722030 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

For the following groups of letters given in Column I, the
codes are given in Column II. Answer the question by finding
the codes for the groups from the given columns.

Column [ Column IT
(A) kill dog cat YZX

(B) tape Killmatcat | XEZV
(C) kill mat jeeptiger| X VWA

What is the code for kill?

Options:

1. =V
2.v X
3.% 7
4 = W

Question Number : 12 Question Id : 54592722030 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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oA | 7 QU a0 e & forafaf@d aagh & fore, e ||
H ¢ U 7w g1 QU 90 FiaH & HAgH & T Fc gaht ea

hl Iccdd é'l

Column I Column IT
(A) kill dog cat YZX

(B) tape Killmatcat | XEZV
(C) kill mat jeep tiger| X VWA

KIL & foIT she s &7

Options:

1. = V
2. v X
3. = /
4. = W

Question Number : 13 Question Id : 54592722031 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Eight friends Kajal, Sneha, Pooja, Anjum, Ram, Priya, Pranjali
and Jivan are seated in a straight line, facing North, but not
necessarily in the same order. Jivan sits at the extreme right
end of the line. Only four people sit between Jivan and Sneha.
Both Kajal and Pooja are immediate neighbours of Sneha.
Only two people sit between Pooja and Pranjali. Pranjali is
not an immediate neighbour of Jivan. Anjum sits second to
left of Priya.

Who amongst the following sit exactly between Pooja and
Pranjali?

Options:
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1. = Priya, Jivan

2. = Anjum, Ram
3. v Kajal, Sneha
4, = Anjum, Kajal

Question Number : 13 Question Id : 54592722031 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3G ST hisTel, Toigl, Yail, 3iS[A, TA, T, dreifel 3 Sirast
I Tsh AT @ & el T 3N @ Kl SSHT I4T g,
offehel ST®T aET foR 34T A A &1 Siae T & oo g
BT W JT &1 Sgd AR TAgT & ST gl I o9l 8§ &
rstel R IS alell FaigT & folshear TsIEr &1 qorr AT wrerfer
% oI hdel a1 ol 8 g1 Wistiel, Siiael T I ISIAT =7 ¢l
3STA, TORT & 10 & @Y AT W ST ¢

fArfef@a # & i gorm 3R ursifer & & aedg # dad 87

Options:

1. = o=, Shad

2. = 34\31334, ITA

3. v FIolol, Tolg]

4. = 3{\31344, ShTTol

Question Number : 14 Question Id : 54592722032 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

More heavy the Balls more costlier they are. Rahul’s Ball is
heavier than Virat’s and costlier than Rohit’s. Dhoni’s ball 1s
costlier than Rahul’s but lighter than Kedhar’s. Rohit’s ball is
costlier than Virat’s. So who is the owner of the costliest ball?

Options:
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1. = Virat
2. » Rahul
3. v Kedhar

4. = Rohit

Question Number : 14 Question Id : 54592722032 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁaﬁmmﬁaﬁ?ﬁé’rmﬁaﬁa’nﬁW@ﬁW
feRTe T JelelT A ARY 3R QfgT HT Jelell A AT &1 il hr
3G Tgel T Felell H FEIAT &, Aol HaR HT Feloll H FEhT &
ﬂ%ﬁeﬁrﬂama&rmﬁrmﬁ%lﬁﬂaﬁmﬁﬂaw
AT Wit &7

Options:
1. = fare
2.« Tga

3. v HhE
4. = Qfgd

Question Number : 15 Question Id : 54592722033 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A five members research group is to be chosen from the
Cricketers Nitesh, Arun, Aditya and Mohseen and the Boxers
Priya, Neha, Simran and Kiran. At least 3 cricketers must be
in the group. However:

(1) Nitesh refuses to work with Mohseen.
(11) Arun refuses to work with priya.

(1i1) Neha refuses to work with Simran.
(1v) Mohseen refuses to work with Neha.

If Arun is chosen, who else would have to be definitely in the
group?

Options:

1. * Neha
2. % Simran
3. = Nitesh
4, v Aditya

Question Number : 15 Question Id : 54592722033 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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forencd: Tarder, 37%0T, 3fdcy 3T ARG JoUT siead: T,
g, AT 3T fohor & & U TeRdT T 3eTaTe Hg
Tl STl &1 §HE H FFA & FA 3 Fhoved get fgu greilfh:

() foder o AE/T F T FTH o T SHR w247
(i) 37%0T & ORT o T FTH a0 @ ShHT =T 22T
(iii) 78T & AT F ATT FIH ol T SR H 24T

(iv) AT o 8T & 1T FTH o T SHR HT &7

Ife 31807 T AT ST &, O THg A AT Fid fead &7 4
BIETT?

Options:

1. = =AgT

2. « MO
3. = faqer
4. v e

Question Number : 16 Question Id : 54592722034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sagar is ranked thirty fourth from the bottom in a class and
seventh from the top . How many students are there in this
class?

Options:

1. = 39
2. v 40
3.+ 41
4. % 42
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Question Number : 16 Question Id : 54592722034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR Ush &7 # A & ddad T W 3R 3 8§ 9199
TATT T &1 6 H&T H Thdad o F &7

Options:

1. = 39
2. v 40
3. = 41
4. = 42

Question Number : 17 Question Id : 54592722035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There are eight girls A to H was need to go for dance sessions
in two batches of four girls each. Following are the criteria:

(1) B and H have to go together
(2) D and F do not go together
(3) A and C never go together

If B and € go in the first batch, then who of the following can
be in the second batch?

Options:

1.« A, D,Hand G
2.« A CCEand G
3.vA,D,Eand G
4.« A D Fand G

Question Number : 17 Question Id : 54592722035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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3S TEfRAT A & H &I IR o5Ral & a1 oA # Jcd ¥ &
e e &1 eafei@a A &:

(1) B 3T H =7 v Oryg AT &1
(2) D 3iX F &I v @1y d87 A1r &
(3) A 3T C 3T @ry 87 I &1

gfg B 3R C ugel 89 # S §, o Toiest # & isT &1 g8
8 H & ghdr &7

Options:

1. = A, D, H 3R G
2. = A, C, E 3R G
3. vA D, E3RG
4. = A, D, F 3R G

Question Number : 18 Question Id : 54592722036 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Directions: In the question below, there are three statements
followed by two conclusions. You have to take the given
statements to be true even if they seem to be at variance with
commonly known facts and then decide which of the given
conclusion logically follow(s) from the given statements.

Statements:

I. All reds are whites.

I1. All whites are oranges.
IT1. All blues are reds.

Conclusion:
I. All whites are reds.
I1. All reds are oranges.

Options:

1. = Only conclusion I follows

2. v Only conclusion II follows

3. = Either conclusion I or II follows
4. = Nelther conclusion follows

Question Number : 18 Question Id : 54592722036 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

| Adda2d7 | L Acsin,

foden: S U 910 wesd A A Fua AR 39 &g gy favhy
few arw &| 3M9ehr TS0 910 F20al I GcT ATl & Hol &7 T
aATT J2aT @ e udia g afl @ fasest o1 gfew R
I HIfeiT foF T ot fasshst # @ FidT 1 dogdd &7 8
TELOT HIAT &, AIE I AT T2F Fo 6 &

U

. T oTel, e &1
I. T Fthg, AT B
I1l. THAT sirel, Tl &1
IGLER

Tl gthe, el &I
.57 oTel, ARG §

1. = g had kY | T &

2. v ITE &ael @Sk || T &

3. » IfG a1 sk | AT Il FcT &
4, « I AT AshY | T 1l OT &

Question Number : 19 Question Id : 54592722037 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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In the following question, there is a statement followed by
two courses of action, numbered I and II. You have to assume
everything in the statement to be true to decide which of the
two suggested courses of action logically follows for pursuing
Statement:

Alr pollution in India is reaching alarming levels.

Course of actions:

I. Ban use of insecticides.

I1. Institute a high level committee to find persons involved in
polluting India.

Options:

1. = Only I follows

2. = Only II follows

3. = Either I or II follows

4. v Neither I nor II follows

Question Number : 19 Question Id : 54592722037 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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FRIGN T

|. hIcaTershl T WideeT|

II. HRT T UGS el alel SATFadl I el & ToIT Teh
3Td THRIT AT &7 75T R

Options:

1. = W%Wérlmgﬂw HIdl &
2. % ahdol TSy || HAELOT Tl 3
3. « fersehd | AT || 3epEor FaT &
4.@@?3%%@@31@@%

Question Number : 20 Question Id : 54592722038 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will come in place of question mark and
complete the below series. This term is given as one of the
alternatives. Mark the correct alternative.

280,271,264,259 ,?
Options:

1. = 125
2. % 252
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3. v 256
4, = 250

Question Number : 20 Question Id : 54592722038 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A feu v farafeli@d uedt A, a8 fasheq g ST weafIEsT
T STITE 3T T s &7 ATG ATl hl T @M I wea e
faereT & ¥ A fear o= &1 @l fasheq & AT Hrsiv)

280,271,264,259 |7

Options:

1. = 125
2. % 252

3. v 256
4, = 250
Mental Ability2
Group Number : 2
Group Id : 5459271092
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Ability2
Section Id : 5459271092
Section Number : 1

Section type: Online
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Mandatory or Optional:
Number of Questions:
Number of Questionsto be attempted:

Section Marks:

Question Number : 21 Question Id : 54592722039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

GET IT ON
Google Play

5459271310

In the following question, one number is wrong in the series.

Find out the wrong number.

2,10, 34, 105, 322

Options:

1. v 105
2. % 322
3.% 34
4. % 10

Question Number : 21 Question Id : 54592722039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forFaToRad wesl H, &l H Ush HEAT el &l el T&l

AT hIifw|

2, 10, 34, 105, 322

Options:

1. v 105
2. = 322
3. = 34
4. = 10
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Question Number : 22 Question 1d : 54592722040 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given options.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1.98
2. 36
3. 164
4.171

Question Number : 22 Question Id : 54592722040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few av Jreul & O MHea H{s«qlﬁ?lﬁl

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 98
2. 36
3. 164
4. 171

Question Number : 23 Question Id : 54592722041 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd numeral pair/group in each of the following
questions.

Options:

1. = 72:12
2.+ 114 : 19
3. 78:13
4.« 119 :17

Question Number : 23 Question Id : 54592722041 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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farafeliad wea & fOvA T&AT aTel IoA / THE FT V|

Options:

1. = 72 : 12
2. = 114 : 19
3. = 78 1 13
4. v 119 : 17

Question Number : 24 Question Id : 54592722042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given options.

Options:

1.« 11,17, 53
2. % 37,59, 53
3.+ 71,73, 37
4. v 31, 36,17

Question Number : 24 Question Id : 54592722042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few v fawa faswew 1 w4l

Options:

1. = 11, 1/, 83
2. = 37, 89, 53
3. = /1, 73, 37
4. v 31, 36, 17

Question Number : 25 Question Id : 54592722043 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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In the following question, select the related
letter/word/number from the given alternatives.

(240,251,264)

Options:

1. = (320,331,343)

2. v (320, 331, 344)
3. = (320, 330, 344)
4. = (320, 329, 344)

Question Number : 25 Question Id : 54592722043 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T wea 7 fGv a0 TFedt # O geeieud
IETT/RTSS/TTIT T gﬁvl

(240,251,264)

Options:

1. = (320, 331, 343)
2. v (320, 331, 344)
3. « (320, 330, 344)
4. = (320, 329, 344)

Question Number : 26 Question Id : 54592722044 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following questions.

1 2 3
111 7 5
120] 45 ?

Options:
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1. = 19
2. % 17
3.»v16
4. % 15

Question Number : 26 Question Id : 54592722044 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mrataf@a e & AT TE&IT ATT hITAT|

1 2 3
11 | 7 5

120 45 7

Options:

1. = 19
2. = 17
3. v 16
4. = 15

Question Number : 27 Question Id : 54592722045 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Glven interchanges: signs + and +, and numbers 9 and 6; then
the value of 9 + 6 + 3 - 7 1s:

Options:

1. v 2
2. %4
3.%6
4 %9

Question Number : 27 Question Id : 54592722045 Question Type: MCQ Option Shuffling: Yes
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Correct Marks: 1 Wrong Marks: 0.25

few a0 seena: Reg + 3 +, 3R @& 9 AR 6; F HTAR 9
+ 6 + 3 - 7 ST AT T FEM?

Options:

1. v 2
2. = 4
3. 6
4. = 9

Question Number : 28 Question Id : 54592722046 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the question given below, there is a statement followed by
two conclusions. You have to take the given statement to be
true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion
logically follow(s) from the given statement.

Statement:
S=A<P>B<T<U
Conclusions:
LU=A

I. S<T,

Options:

1. = Only conclusion I follows

2. » Only conclusion II follows

3. = Either conclusion I or II follows
4. v Neither conclusion follows

Question Number : 28 Question Id : 54592722046 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 29 Question Id : 54592722047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, one number 1s wrong in the series.
Find out the wrong number.

124,172,228,290,364

Options:

1. = 172
2. % 364
3.v 290
4. %124

Question Number : 29 Question Id : 54592722047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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fraTolae weet #, s[%rel # U HEAT ATl &1 ol TEAT
AT hIST|

124,172,228,290,364

Options:

1. = 172
2. = 364
3. v 290
4. = 124

Question Number : 30 Question Id : 54592722048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following diagrams best represents a
relationship among Cousins, Nephews and Males?

Options:
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Question Number : 30 Question Id : 54592722048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fretfof@a & & i @ = TR / 7R/ JA 7 O oS
SgeT, HTSl [ HIST 3 T8N K o< Heler HT gATdT 87

Options:

.. QO

©

Question Number : 31 Question Id : 54592722049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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In the given figure, the circle represents Smokers, rectangle
represents alcoholic addicts and triangle represents tobacco
chewer. which number represents Smokers who are tobacco

chewer, but not Alcohol addict?

Options:

1.v2
2. % 14
3.%5
4 %6

Question Number : 31 Question Id : 54592722049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&r I Pl & gcd, YFITe Hlel arell P, 3, AfGd
Adel el dTel A AT e, dereh <@E arell S eRiiar

Siel dT AT YHITST el dlell I AT § Sl ciﬁllci': SEIGEEY

olfehe eRTE w18l did &7

Options:
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1. v 2
2. = 4
3. % 5
4. = 6

Question Number : 32 Question Id : 54592722050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the series by choosing right figure from the given
choices.

Problem Figures
l
l

1 2 3 -

Options:

WS

2.

... B

4. =

Question Number : 32 Question Id : 54592722050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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I

l

1 2 3 -
Options:

NS

... PR

Question Number : 33 Question Id : 54592722051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the series by choosing right figure from the given
choices.

Problem Figures

DN ?

1 2 3 4
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Options:

Question Number : 33 Question Id : 54592722051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SRR

GET IT ON
Google Play

feu a0 fashem & @ Hel 3ot oA JTaT FT T R

WS IMFicd

&

Options:

oL

Q.

3
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Question Number : 34 Question Id : 54592722052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing figure in the given matrix.

AN [

A -

Options:

1. =

R
S 2
X
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n X

Question Number : 34 Question Id : 54592722052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev a1v Afgrq H ofe 3Pl AT HIfeIT]

AN
N+
X ?

S

2« I

X

oo 12X

Question Number : 35 Question Id : 54592722053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Three of the four figures marked (A), (B), (C) and (D) are in a
sequence or similarity in some way. You have to choose the
figure which is odd /different:

Options:

8 b B

Question Number : 35 Question Id : 54592722053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RIfEaa amfaar (), (&), @) AR @) 7 @ de Ry w7 a1
HATAAT H Ueh §| 3MTUhT T8 3hid Helell BT S 5T /
e &

Options:
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Question Number : 36 Question Id : 54592722054 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many Squares are there in the figure given below?

Options:

1. =7
2.v 8
3.9
4. %5

Question Number : 36 Question Id : 54592722054 Question Type: MCQ Option Shuffling: Yes
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Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = 7
2. v 8
3. 9
4. = 5

Question Number : 37 Question Id : 54592722055 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given four positions of a single dice, find the
number of dots at the face opposite to the face having 1 dot.

§ oo

L]
.
I 111 IV
Options:

1. =1
2. % 14
3.v06
4. % 3

Question Number : 37 Question Id : 54592722055 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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3. v 6
4. = 3

Question Number : 38 Question Id : 54592722056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

;

In the given question find the answer figure in which

question figure is embedded.

Questions Figure

Options:

1. =
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Question Number : 38 Question Id : 54592722056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feU 910 Tea F SccaT 3Thid AT R0 [oaa TR 3Tehfer
gleaiad &l

e s
|
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Options:
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Question Number : 39 Question Id : 54592722057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which answer figure will complete the pattern in the

question figure?

Options:

1. =

2.
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4. =

Question Number : 39 Question Id : 54592722057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

shisT E 3cc 3Mehicl WesT 3pfc # Ucet ST I HI?

Options:
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Question Number : 40 Question Id : 54592722058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following choices is the exact mirror image of
the main figure.

Question Figure

)|

Options:

Ca

1. v

B

B

B

Question Number : 40 Question Id : 54592722058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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General Awarenessl

Group Number : 3

Group Id : 5459271093
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group?: No

Break time: 0

Group Marks: 20
IsthisGroup for Examiner?: No

Revisit allowed for group Instructions? : Yes
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Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarenessl

Section Id : 5459271093

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271311
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592722059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which country gifted Manipur, the Imphal Peace Museum?

Options:

1. = China

2. = Bangladesh
3. v Japan

4. = Norway

Question Number : 41 Question Id : 54592722059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SFBIO LMl GaIgTord, ATOIYT shi fohd 2T o 3UgR # feam o

Options:

1. = IleT

2. % SIoleel

3. v ST

4. = g

Question Number : 42 Question Id : 54592722060 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Who is awarded by Tansen Samman 2018?

Options:

1. = Pt. Dalchan Sharma
2. v Manju Mehta

3. = Savita Devi

4. = Pt. Ulhaas Kashalkar

Question Number : 42 Question Id : 54592722060 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

dTaded TFATT 2018 & Tovd §FATAT TohaT =T 277

Options:

1. % O, ETeldal THT

2. v He[ Hgdl
3. = gadar 24ar

4, % T, 3cET hIRTelehT

Question Number : 43 Question Id : 54592722061 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following got the GI (Geographical
Indications) in 20197

Options:

1. v Kolhapuri Chappal
2. » Kadaknath

3. = Banglar rasogolla
4. = Etikoppaka Toys

Question Number : 43 Question Id : 54592722061 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

feafe@a & O 8 2019 & Shi3ms (simfess gea) e
T 87

Options:
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Question Number : 44 Question Id : 54592722062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which state of India Kheer Bhawani Mela is held?

Options:

1. = Gujarat

2. » Maharashtra

3. = Assam

4. v Jammu & Kashmir

Question Number : 44 Question Id : 54592722062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RO & g ToT # TR AT Aol M™Aeg Far srar &2

Options:

1. = Ia0d
2.« FENTSE
3. = 38H
4.@3?%13411’%31:11'

Question Number : 45 Question Id : 54592722063 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Among the following tax which one is indirect tax?

Options:

1. = Income Tax
2. v Sales Tax
3. » Wealth Tax
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4. = Corperation Tax

Question Number : 45 Question Id : 54592722063 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao @a & @ HIa-9r FT I9cTeT FL 57

Options:

1. = 3TIHRT
2. v TSshT T
3. % ToYd T

4. = GEIAET T

Question Number : 46 Question Id : 54592722064 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which is the richest state in India in 20197

Options:

1. = Tamil Nadu

2. = Uttar Pradesh

3. v Maharashtra

4, « Madhya Pradesh

Question Number : 46 Question Id : 54592722064 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2019 A ART &1 Fa8 JHR IS Hid-ar g7

Options:

1.waﬁﬂ?n§
2. = 3cal wder

3. v AT
4, » AT YL

Question Number : 47 Question Id : 54592722065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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On what basis India is at third rank according to budget
speech of Arun Jaitley 2018-19?

Options:

1. = Gross Domestic Product

2. » Foreign Direct Investment
3. = Agricultural Production
4. v Purchasing Power Parity

Question Number : 47 Question Id : 54592722065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

w@izﬁ?raa‘zm&wa:maﬂwa:agau T o
YN O deR T W g7

Options:

1. * Hhol B[ 3c9TG
2. » Qelr ucxer foger

3. * PV IcuTee

4. v T eed gHAT

Question Number : 48 Question Id : 54592722066 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which state of India a new species of paddy frog is found?

Options:

1. = Telangana
2. = Odisha
3. v Assam
4. = Kerala

Question Number : 48 Question Id : 54592722066 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TRT & [T T & g1 A HT Tk o3 Tollld Uls I-T 7

Options:
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1. = QolTal
2. = 3Nfger
3. v dGH
4, = HIo

Question Number : 49 Question Id : 54592722067 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What percent of households in rural India accessed to toilet
according to survey National Annual Rural Sanitary Survey
2018-19?

Options:

1. = 94.2 percent
2. * 94.5 percent
3. v 93.1 percent
4. = 33.4 percent

Question Number : 49 Question Id : 54592722067 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSEIT AT JTATOT TATSAT TAETOT 2018-19 & 3HATR IATHIT
AT & fohctat wfcerd exf & efiemery 1 giaar &7

Options:

1. #= 94.2 yfaerd
2. = 94.5 gfaera
3. v 93.1 yfaera
4. = 93.4 gfaera

Question Number : 50 Question Id : 54592722068 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The color of Tomato is red due to the presence of

Options:
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1. = Beta Carotene
2. » Limonene

3. = Fructose

4. v Lycopene

Question Number : 50 Question Id : 54592722068 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fr 3ufeafa & FIUT TATET T T oTel ardaT &l

Options:

1. = ST FAA
2. % ToIAYeleT
S.QW

oy

4. v SATZHIYIA

Question Number : 51 Question Id : 54592722069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which element is used as timekeeper in the atomic clocks?

Options:

1. = Potassium
2. » Magnesium
3. v Cesium

4. » Vanadium

Question Number : 51 Question Id : 54592722069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TCATO] Gfsdl A THIATS (SEARIR) & &7 A foher dcg T
3UgieT oRaT SATaT &7

Options:

1. = TIeEH
2. % HIATH
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3. v GaTH
4. » qATSTH

Question Number : 52 Question Id : 54592722070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GET IT ON
Google Play

What is the Maternal Mortality Ratio in India as of July 2019?

Options:

1. = 167
2. % 218
3.+v130
4. = 178

Question Number : 52 Question Id : 54592722070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STels 2019 deh 39cisY SlelhRT o 38R ATd Acd 34T
o o - - D o)

2T 87

Options:

1. % 167
2. % 218
3. v 130
4. % 178

Question Number : 53 Question Id : 54592722071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which tree annual growth rings are absent?

Options:

1. = Pine Tree
2. v Palm Tree

3. = Oaks

4. » Banyan Tree
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Question Number : 53 Question Id : 54592722071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g A ¥ TohE ge7 A aii¥e gig & oo fuieyd gid 87

Options:

1. = IS HT Ug
2. v dIg &l U
3. = 3d

4. = §I3E T U

Question Number : 54 Question Id : 54592722072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following device measures depth of a sea?

Options:

1. = Altimeter

2. * Barometer
3. = Anemometer
4. v Fathometer

Question Number : 54 Question Id : 54592722072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafaET 7 @ Hia-A7 3UROT A AT T3 T ATIAT §7

Options:

1. = 3ecIART
2. % SUHRT
3. = TATAIART
4. v HAHET

Question Number : 55 Question Id : 54592722073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year Vitamin A was discovered?

Options:
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1. = 1910
2. = 1911
3.»v1912
4. % 1913

Question Number : 55 Question Id : 54592722073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faeTtAer A 1 @t fohg a¥ g5 A1

Options:

1. = 1910
2. = 1911
3. v 1912
4. = 1913

Question Number : 56 Question Id : 54592722074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Consider the following statement:

I. Ukal Dam is constructed on Tapti River.
II. Panchet Dam is constructed on Beas River.

Which statement is correct?

Options:

1. v Only I
2. = Only II
3.= BothIT and II
4. = Either I or II

Question Number : 56 Question Id : 54592722074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GET IT ON
Google Play
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Options:

1. v hael |
2. = hadl I
3. = | 3% Il gt
4, = v ar | = |l

Question Number : 57 Question Id : 54592722075 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Tribe lives in Arunachal Pradesh?

Options:

1. = Bodo tribe

2. = Chenchu tribe
3. v Nyishi tribe
4. = Toto tribe

Question Number : 57 Question Id : 54592722075 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foee & & HIa-AT AT JBUMI U H I&aT 57

Options:

1. = SIET STelolla
2. % T SfeTllid

3. v AT SATelld
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4. = 2T AT

Question Number : 58 Question Id : 54592722076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which cyclone is termed as ‘rarest of rare’ by RIMES reports?

Options:

1. = Nilofar
2. » Fani
3. » Gaja
4. « Titli

Question Number : 58 Question Id : 54592722076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RIMES ROic 2@RT fohd Tshdld T ‘GelTdd ZolsT el AT &7

Options:

1. » ToTellth
2. % TRl
3. = ST
4. v Tagel

Question Number : 59 Question Id : 54592722077 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

For what ‘karewas’ the lacustrine deposit in Kashmir is
known?

Options:

1. = Terrace farming

2. = Apple Orchards
3. v Saffron Cultivation
4. = Shifting Cultivation

Question Number : 59 Question Id : 54592722077 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = 239 Jdr

2. = A S FET

3. v ha HI Fdr

4. = TG Fecraera

Question Number : 60 Question Id : 54592722078 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where does the oldest oil field of India located?

Options:

1. v Assam

2. = Gujarat
3. « Tamil Nadu
4. = Arunachal Pradesh

Question Number : 60 Question Id : 54592722078 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR FT T8 QT doT &1 Fal Fod g7

Options:

1. v 3HHA

. % J[GNTd

M

. % 3TSUTRIOT Yol

Group Number :
Group Id :

2
3. = dmoimg
4

General Awareness?

5459271094
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Group Maximum Duration :

Group Minimum Duration :

Show Attended Group? :

Edit Attended Group?:

Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :
Maximum Instruction Time:

Minimum Instruction Time:

No
No

20
No
Yes

General Awareness2

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Sub-Section Number:
Sub-Section I d:
Question Shuffling Allowed :

5459271094
1

Online
Mandatory
20

20

20

1
5459271312
Yes

Question Number : 61 Question Id : 54592722079 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25
Nilgiri Tahr is :
Options:

1. = Cow
2. = Bull
3. v Goat
4, = Cat

Question Number : 61 Question Id : 54592722079 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

AT &y 4T &7

Options:

1. = I

2. = I8

GET IT ON
Google Play
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3. v TFHIT
4, = Toeell

Question Number : 62 Question Id : 54592722080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following metal was used in India for the first
time?
Options:

1. = Iron

2. = Silver

3. v Copper

4. = Aluminium

Question Number : 62 Question Id : 54592722080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT # frafoli@a # @ & o91qg &1 9gell I 39T R
T AT?

Options:

1. = @gT
2. « IGT
3. v drEr
4. » THATIH

Question Number : 63 Question Id : 54592722081 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year Goa was captured by Portuguese?

Options:

1. = 1410
2. v 1510
3. % 1515
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4. % 1610

Question Number : 63 Question Id : 54592722081 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Wa&ﬁaﬁmwgﬁwﬁa‘rﬁmmu Y Torr 277

Options:

1. = 1410
2. v 1510
3. = 1515
4. = 1610

Question Number : 64 Question Id : 54592722082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Among the following which battle was fought between
Humayun and Sher shah Suri?

Options:

1. v Battle of Chausa
2. = Battle of Buxar

3. = Battle of Panipat
4, = Battle of Plassey

Question Number : 64 Question Id : 54592722082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFafeidd & & Pla-H1 o315 §ARY 3N A AE F &
osT a5 Ar?

Options:

1. v I &1 g

2. % FHAY T I&
3. * Ul & Ig
4. » TOTHT T T&
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Question Number : 65 Question Id : 54592722083 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GET IT ON
Google Play

Who was the Viceroy of India at the time of civil disobedience

movement?

Options:

1. = Lord Wavell

2. » Lord Reading

3. = Lord Chelmsford
4. v Lord Irwin

Question Number : 65 Question Id : 54592722083 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HI9aT 3T T 3R & THT AN FT 9T Fid 2a77?

Options:

1. = s adel
2. = @5 {ifsar
3. » ¢l TelHATRIS
4. v s IdeT

Question Number : 66 Question Id : 54592722084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Mughal emperor enforced Sharia Law in India?

Options:

1. = Akbar
2. « Babur

3. v Aurangzeb
4. « Bahadur shah-II

Question Number : 66 Question Id : 54592722084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TRa H g HITeT THTE o GRAT Flefel 9] FRaAT?

Options:
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1. = 3Tha

2. = ®EY

3. v 3Read

4, = SEIgl Tg- I

Question Number : 67 Question Id : 54592722085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Between the sixth and fourth centuries BC which Mahajanpad
was the most powerful?

Options:

1. v Magadha
2. = Anga
3. = Kasi
4. = Gandhara

Question Number : 67 Question Id : 54592722085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ol 3T el eraredr $6T qF & S Sla-81 Aglelelue dod
oTTeFcTRITell 20T?

Options:

1. v HITT

2. % 37T
3. % chrelT
4, = AT

Question Number : 68 Question Id : 54592722086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Shaili Chopra is assoclated with:

Options:

1. = Classical singing
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2. = Sports
3. = Acting
4. v Journalism

Question Number : 68 Question Id : 54592722086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ool AIYST T T Thad &7

Options:

1. % MEAT IMAeT
2. = Tl

3. = THAT

4. v TARIAT

Question Number : 69 Question Id : 54592722087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following created the famous Tom and Jerry
Cartoon?

Options:

1. v Joseph Barbera
2. » Walt Disney

3. » Martin Goodman
4. » E.C. Segar

Question Number : 69 Question Id : 54592722087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feTotad # & fordel vilE A S SRY Figel Serar?

Options:
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4, = T, G QAN

Question Number : 70 Question Id : 54592722088 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which country awards Noble Peace Prize?

Options:

1. = Iceland

2. » Netherland
3. v Norway

4. = Germany

Question Number : 70 Question Id : 54592722088 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

allael A WERR Tohe 2o 2@’y feam sirar 7

Options:
1p. x SIS
2. % Slglelvg
3. v Ad

4. = STHaAT

Question Number : 71 Question Id : 54592722089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following is India’s highest civilian award?

Options:

1. = Padma-Bhushan
2. » Padma-Shri

3. v Bharat- Ratna

4. » Padma-Vibhushan

Question Number : 71 Question Id : 54592722089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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e Ea & O Shie-dar TEEHFR AT F1 Har=a AT R
TR &7

Options:

1. = O5T-8]90T
2. = TF-HT

3. v HRd- Tcd

4. = g-Tasqyor

Question Number : 72 Question Id : 54592722090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following book is written by Shashi Tharoor?

Options:

1. = Two Lives

2. v Bookless in Bagdad
3. » Mythologies

4. = Silent Spring

Question Number : 72 Question Id : 54592722090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR 2T A AR #§ @ He H e o

Options:

1. = T omsed
2. v Tkl 3ol SIEIE

3. = ORIUT AN
4. = @Seic T

Question Number : 73 Question Id : 54592722091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘The guide’ Is written by :

Options:
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1. = Barak Obama
2. = Ruskin Bond
3. v RK. Narayan
4.  Jane Austen

Question Number : 73 Question Id : 54592722091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g M58 &I ZaRT fermEr aram g

Options:

1. = SR 3ETAT

2. = {[Ehel Hloa

3. v .. A=I0T

4. = A 3TEC

Question Number : 74 Question Id : 54592722092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which article of Indian Constitution empowers the election
commission of India to issue rules and guidelines?

Options:

1. = Article 322
2. % Article 323
3. v Article 324
4. = Article 325

Question Number : 74 Question Id : 54592722092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRATT TG hT HleT-HT Hefede AR & g LT AT
foa 3T feem fader oY e &7 MTIFR vETeT FLaT 7

Options:

1. = H@ﬁ—dSzz
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2. % H@ﬁ—d 323
3. v 3o 324
4. = H@ﬁ—d 325

Question Number : 75 Question Id : 54592722093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

During the making of Indian Constitution from which country’
s constitution the feature, ‘Procedure for amendment in the
Constitution’ is taken?

Options:

1. = Ireland

2. v South Africa
3. = Britain

4. = Germany

Question Number : 75 Question Id : 54592722093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HAT AT & AT o SRIeT & &2l & g &8
TR H geNga T gfshar o 78 &2

1. » 3ATes
2. v SI&TUT 3T%hiehT
3. = fodeT

4. = STHAT

Question Number : 76 Question Id : 54592722094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the minimum age of person to be a Governor of the
State according to constitution of india?

Options:

1. v 35 years
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2. = 40 Years
3. = 45 Years
4. = 50 Years

Question Number : 76 Question Id : 54592722094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT HITUTeT o I[HN, T KT AT Sefel & fAw e
safed &1 =geAas 3T FAT gl AfRe?

Options:

1. v 35 @Y
2. % 40 ¥
3. % 45 ¥
4. » 50 ¥

Question Number : 77 Question Id : 54592722095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which reform or Act during the British rule in India has
given separate electorate to Muslims?

Options:

1. = Rowlatt Act

2. = PItt’s Act

3. » Montagu-Chelmsford Reforms
4. v Morley-Minto Reforms

Question Number : 77 Question Id : 54592722095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT H foifeer amae & e fovm gar a7 sfafagd o

@Hmamﬁ R 37197 TaaT=Ieh HEo Tear a77?

Options:

1. = Jolc T
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2. % W &1 IAEIH
3. * ARIY-AFRIS N
4.#@1@'—%@

Question Number : 78 Question Id : 54592722096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Indian community established the first Cricket Club in
India?

Options:

1. » Hindu
2. % Sikh

3. v Parsi

4. = Muslim

Question Number : 78 Question Id : 54592722096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fora TR THE & ART # Ugell fshdhve Fola TS R
AT?

Options:

1. = 1&g
2. » fam
3. v UIGET
4.%@%??

Question Number : 79 Question Id : 54592722097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many players are there in water polo team?

Options:

1. =6
2.7
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3. 8
4, %9

Question Number : 79 Question Id : 54592722097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gre iell &1H H Tehcel TEemsT gl 87

Options:

1. = 6
2. v 7
3. 8
4. = 9

Question Number : 80 Question Id : 54592722098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which city International Olympic Committee (10C) opened
its headquarters?

Options:

1. v Lausanne
2. ® Geneva
3. = Bern

4. = Basel

Question Number : 80 Question Id : 54592722098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forar ergT & ITSER 3iteliaeh AIATT (IOC) o 37U &I
el §7

Options:

1. v oiEgel
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Arithmetic Abilityl
Group Number : 5
Group Id: 5459271095
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section 1d : 5459271095
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271313
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592722099 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTIONS: What should come in place of the question mark (?) in the following
question?

(0.572+ (0.22+2 x (0.5)(0.2)="?
Options:

1. = 0.94
2. % 0.39
3.+049
4. = 0.69
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Question Number : 81 Question Id : 54592722099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forger: rafaf@a g1 & wedaras fieg (2) & T 9T FT AT IR
(0.52+ (0.22+2 % (0.5)(0.2)="?

Options:

1. = 0.94
2. = 0.39
3. v 0.49
4. = 0.69

Question Number : 82 Question Id : 54592722100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GET IT ON
Google Play

DIRECTION: What should come in place of the question mark

(?) in the following question?

3x03%x0.03x0.003x30=7

Options:

1. = 0.0000243
2. % 0.000243
3. v 0.00243

4. % 0.0243

Question Number : 82 Question Id : 54592722100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

facen: farafei@a west &7 wedaraes Reg (?) & TATT W 1

HTelT ATET?

3 x 0.3 x 0.03 x 0.003 x 30 =7

Options:

1. = 0.0000243
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2. = 0.000243
3. v 0.00243
4. = 0.0243

Question Number : 83 Question Id : 54592722101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTIONS: What should come in place of the question mark (?) in the following
question?

2 ofa13 +20f615 =2
T 5

Options:

1. = 541
2.v 423
3. = 792
4. % 433

Question Number : 83 Question Id : 54592722101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T Rrafei@a vea & yeaaras [”eg (2) & T2 91 Far AT a1 e?
3 of413 +20f615 =17
i 0

Options:

1. = 541
2. v 423
3. = 792
4. » 433

Question Number : 84 Question Id : 54592722102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTIONS: What should come in place of the question mark (7) in the following question?

3 ofiofiof630 =2
5 7 g

Options:

1. % 90
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2.% 75
3. = 45
4. v 60

Question Number : 84 Question Id : 54592722102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=& TafefEag ved & veaams [ (?) & T 9 3T 370r =nge?
630 FHTZHIZ T2 =7

5 7 5
Options:

1. = 90
2. % /5
3. = 45
4. v 60

Question Number : 85 Question Id : 54592722103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTIONS: What should come in place of the question mark (?) in the following
question?

2x% 2 9243 -2°+8

Options:

1. =9
2. % 27

3.v3
4' ® 31..-‘3

Question Number : 85 Question Id : 54592722103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

der: Fratei@a gea A weaargs [”eg (2) & T2 9T 2 T ange
=)
72X+ =2243-2°+8

Options:
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1. = 9
2. % 27
3. v 3

4 ® 3 1/3

Question Number : 86 Question Id : 54592722104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTIONS: What should come in place of the question mark (?) in the following
question?

(V14.44 -2.5¢ +1.69=?

Options:

1.+1
2.% 1.5
3.% 2.25
4. % 24

Question Number : 86 Question Id : 54592722104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forder: Rt f@a 921 A yssaams g (2) & TU1= 9 F47 A= Iiigy?
(V14.4%4 -2.5P +1.69 =2

Options:

1. ¢ 1
2. = 1.5
3. = 2.25
4. = 24

Question Number : 87 Question Id : 54592722105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

LCM of (2,2,2) is:

6"10' 9

Options:
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1. = 720
2. = 1440
3. v 360
4. % 2880

Question Number : 87 Question Id : 54592722105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(3,2 .2) 1 orgem waTaSw &

610" 9
Options:

1. = 720
2. = 1440
3. v 360
4. = 2880

Question Number : 88 Question Id : 54592722106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Six bells toll together at a certain time and after that each
keeps on tolling at an interval of 5, 10, 15, 20, 25, 30 seconds.
After how many seconds will they toll together again?

Options:

1. = 250
2. % 240
3. v 300
4. = 600

Question Number : 88 Question Id : 54592722106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Be Uicdl Tah fead TAT T Uah 1 §oldl & 3R 38k 1%
gcdeh 5, 10, 15, 20, 25, 30 @8 & 3dTol W Foldl I&dT &l
Tohdet @S & o1 T ™ & U AT Foldl?
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Options:

1. = 250
2. = 240
3. v 300
4. = 600

Question Number : 89 Question Id : 54592722107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

19541742 is divisible by which of the following?

Options:

1.+11
2.% 13
3.9
4 %12

Question Number : 89 Question Id : 54592722107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

19541742 farafaf@a # & Thg @ fasrsa &7

Options:

1. v 11
2. 13
3. =9
4. = 12

Question Number : 90 Question Id : 54592722108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a prime number?

Options:

1. = 437
2. % 323

GET IT ON
Google Play
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3. = 567
4, ¢ 241

Question Number : 90 Question Id : 54592722108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ffe@a & @ sia d@r v 3T g&ar 22

Options:

1. = 437
2. = 323
3. = 567
4. v 241

Question Number : 91 Question Id : 54592722109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average weight of Chintu, Chantu and Pintu is 26 kg. The
average weight of Chintu, Chantu is 28 kg and The average
weight of Pintu and Tintu 1s 23 kg. What is weight of Tintu ?

Options:

1.« 21 kg
2.v 24 ke
3. = 25.5 kg
4, % 28 kg

Question Number : 91 Question Id : 54592722109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g, @ig 3N g 1 3iad aete 26 feellama &1 ”ig, ¢ &
AT gote 28 forellama 3R g 3N &g &1 3T gt 23
ferelame &1 e =1 aofer a7 87

Options:

1. = 21 TRalEmHE
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2. v 24 TRelamH
3. = 25.5 TmollanmH
4. = 28 TorelanmH

Question Number : 92 Question Id : 54592722110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average age of Raman, Suman and Mohan is 34 years.
Five times the age of Mohan seven years ago was equal to
four times the age of Suman five years ago. Three times the
present age of Suman is equal to two times the present age of
Raman. Find the age of Suman five years hence.

Options:

1. v 35 years
2. % 28 years
3. * 39 years
4. = 40 years

Question Number : 92 Question Id : 54592722110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THA, A 3T Al $T AT 31g 34 a9 §| T Tl Igel
HIgel T 38 FT UM T , IT ATl Ggel FHA I 3H & IR
AT & Se AT A hT TAATA 3G FT Alef T, THA hT
TIAT 3G F & AT & SEL g1 T Aol §1G FAT Hl 37

FIT BIEIT ?

Options:

1. v 35 @Y
2. % 28 a¥
3. » 39 a¥
4. » 40 T
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Question Number : 93 Question Id : 54592722111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Marked prices of two mobiles are given in the ratio of 7:5. A shopkeeper gives
4 i . A u F .
28_% discount on first mobile. If the total discount on two mobiles is 20%. Find

the discount given by shopkeeper on second mobile?

Options:

1. = 10 percent

2. » 12.50 percent
3. * 4 percent

4. v 8 percent

Question Number : 93 Question Id : 54592722111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

a’rm@ﬁﬁﬁlﬁaﬁﬁﬂﬁ?:ﬁﬂ?maﬁ%lwmqﬁﬁa@wzsg%fﬁr@g
ST 81 TG o Aarsel W FAA T 20% ol gAY Aldised W gHAGR gall &1 S arell 8¢

W 9T Y|

Options:

1. = 10 wfaera
2. = 12.50 ufcera
3. » 4 yfderd
4. v 8 Hfcrerd

Question Number : 94 Question Id : 54592722112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A person divide 41 % of his property among his three sons
Rohit, Sunil and Anand in the ratio of 11 : 13 : 17. If the sum
of the shares of Rohit and Sunil is Rs.72000. Find the
remaining property of the person.

Options:

1. = Rs. 3,00,000
2. % Rs. 1,23,000
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3. v Rs. 1,77,000
4. % Rs. 1,96,000

Question Number : 94 Question Id : 54592722112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk SATFT el Fafee T 41% 319el ofiel St QfEd, Foirel
3T 3ele # 11: 13: 17 o 3qurd # siedr &1 afe Vg 307
Heilel & QRRT T AT 72000 & 8| AfeFd T AY HUfeeT AT
hIToTT|

Options:

1. = 3,00,000 392
2.« 1,23,000 T
3. v 1,77,000 39
4. = 1,96,000 39

Question Number : 95 Question Id : 54592722113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

th
In an office, % of the emplovees are men. 40 % of the men and 60% of the women have 4 - wheeler.

40% of themen and m% of the women having 4 — wheeler are married. If 25% of total 4 — wheeler
owner are married. What is the value of m?

Options:

1. = 12.33
2. v 11.66
3.% 1355
4. = 9.09

Question Number : 95 Question Id : 54592722113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ST &, $ FHART GET § 1 40% TEUT IR 60% ARG & 97 4 - FroR 81 40% TIT 3R m%
Al fSrerah T 4- o &, TR &1 afE For 25% 4 - Hex 7ferw FaRa d i m & 7w w2

Options:
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1. = 12.33
2. v 11.66
3. = 13.55
4. = 9.09

Question Number : 96 Question Id : 54592722114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In basket B, S% %0 more apples than that of basket A . In A , a% apples are rotten and in B, 25% more rotten
apples than A. If total rotten apples in both the basket togetheris 32.4%. Find the percentage of rotten apples
in B.

Options:

248 o
1. v Hu?

30-=- %
13

11 4

29— %

3'33 23

20
3823 Yo

4. =

Question Number : 96 Question Id : 54592722114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aﬂTﬁBﬁﬂﬂTﬁﬁﬁﬂaﬂﬂTﬁ%%mﬁH%I AT 2% A9 TSI 3R B A, A ¥ Felel 7 25%
31fere ST §31 ¥ &) A Al AT A FoT TSI 3T A 324% £1 B H TS §U A I yidAd Ad
A I
Options:

242 o/
-|. o J-PE%
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7 0
" N

11
3 EQE"Q

9 7
4 x 3859-0

Question Number : 97 Question Id : 54592722115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper sells shirts in the scheme “ Buy 2 Get 1 free” and eams a profit of 33& %. Find his profit %

when he sells without this scheme.

Options:

1. = 50 percent
2. * 200 percent
3. = 75 percent
4. v 100 percent

Question Number : 97 Question Id : 54592722115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U gHIAGR "2 @S 1 AU W"mmﬁal-&m%aﬂﬂa;%aﬂmm& =9 At & faar
d<lol UX 3R ATH% AT hi |

Options:

1. = 50 wfaera
2. = 200 yfaerd
3. = 75 gfaera
4. v 100 gfdera

Question Number : 98 Question Id : 54592722116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A man bought a bike and a car for Rs. 500000. He sold the
bike at a gain of 20% and the car at a loss of 10%, thereby
gaining 5% on whole. Find the cost of the bike?

Options:

1. = Rs. 200000
2. v Rs. 250000
3. ®= Rs. 150000
4. % Rs. 180000

Question Number : 98 Question Id : 54592722116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk =gfad of 500000 F=FF H Th TS 3T Th FR T
30 STk ol 20% @ 3T R & 10% gier 9 &7 31T 29
T 30 X HIG H 5% FI AIH HHAIT S5 Hl HT Hod
AT 7?2

1p. « 200000 &9

2. v 250000 &9

3. = 150000 &9
4,

x 180000 ¥

Question Number : 99 Question Id : 54592722117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A trader markup the article such that on selling it at the
marked price, the profit is 70% of the selling price but he sells
the article at 150% profit of the cost price. If the difference
between two selling prices is Rs.1750. Find the selling price
when it sold at 15% profit.

Options:

1. v Rs.2415
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2. % RS.2845
3. = Rs.1255
4. % Rs.2210

Question Number : 99 Question Id : 54592722117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush START Ueh TE] I TH G 3fohd LT & o 38 3ifehd
Aed 9 S9<a W o, 9T He T 70% BIar § dffehel a8
T Hed & 150% e O aE Y Swar g1 Al @ fasna
Hedl & i 31X 1750 §9=F &1 15% o W s<e 9 Oy
Hed AT Y|

Options:

1. v 2415 ®9
2. = 2845 ¥4
3. = 1255 &9
4, = 2210 ¥4

Question Number : 100 Question Id : 54592722118 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

The money with two persons Anil and Sunil are in the ratio of
3 : 4. Anil can spends money in 5 days and Sunil can spends
money in 6 days. Both spend money with their constant rate.
After how many days will their money be in the ratio of 9:
207

Options:

1. = 1 day

2. % 2 days

3. % 3 days

4. v 4 days
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Question Number : 100 Question Id : 54592722118 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

al safeadl 3ffelel 3 Failel & 9T Y47 3: 4 F U H B
3iferer 5 feall & UQT TR T TRl § 3 Feilol 6 ol A Yam
X L GohdT gl Gl el oRay &1 o & 947 B i &

forda et & g 3ot 4T 9: 20 & 3fequrd H gHE?

Options:

1. = 1 faa
2. % 2 faa
3. = 3 fear
4. v 4 T&a

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group?:
Break time:

Group Marks:

Isthis Group for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:

Section Marks:

Arithmetic Ability?2

6
5459271096
0

0
No
No
0
20
No
Yes
0

0

Arithmetic Ability2

5459271096
1

Online
Mandatory
20

20

20
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Sub-Section Number : 1
Sub-Section I d: 5459271314
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54592722119 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Four friends have money in the ratio of 17 : 20 : 23 : 26. Out of
four, one of the persons has Rs.6000 more than the other and
Rs.3000 less than the another. Find the total money with all
four.

Options:

1. v Rs.86000
2. » Rs.43000
3. * Rs.1,72,000
4. » Rs.98000

Question Number : 101 Question Id : 54592722119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I AT & g 17: 20: 23: 26 F 3fe(draT # YET ¥l AN A
d Uk U k U 37 T Jelell # 6000 F9F SaTer 3T
gAY T ool & 3000 A &1 IR F I Fel TR AT RIS

Options:

1. v 86000 w9
2. % 43000 §q&
3. % 1,72,000 ¥9=
4. » 98000 T

Question Number : 102 Question Id : 54592722120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Charan is 16 years younger than Amar, while Bharat is 10
years older than charan. The ratio of the age of charan 6
years hence and age of Bharat 14 years ago is 4 : 3. Find the
present age of Amar.

Options:

1. v 50 years
2.« 44 years
3. = 54 years
4. = 62 years

Question Number : 102 Question Id : 54592722120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIOT, AL T 16 aY BT &, STareh 9, ToT & 10 a¥ =T &
6 I ST TOT sk 3 T 3Hequld AT 14 a9 g9 o1 hr
3 & 4 : 3 &I AT H AT IR AT HII

Options:

1. v 50 a¥
2. % 44 T§
3. » 54 ¥
4. » 62 T§

Question Number : 103 Question Id : 54592722121 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Two sums of money in the ratio of 4 : 5 are borrowed for a
period of 5 years. The rate of interest on the two sums are in
the ratio of 4 : 5 and the total simple interest on the two sums
1s Rs.12300. Find the difference in the simple interest on the
two sums.

Options:

1. » Rs.1500
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2. » RS.3200
3. v Rs.2700
4. % Rs.1800

Question Number : 103 Question Id : 54592722121 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

4: 5 o U H & YR T 4ET 5 HIel HT 3G & v
3 o STl &1 alell ThaAT IT sAqTST h1 T 4: 5 & 3fe[ured A
& 3N 2l TRAT T FHel HTIROT sTTeT 12300 9 g1 &
TRT 9T IYROT sATST # 3dL T IaT S9N

Options:

1. = 1500 ®9&
2. = 3200 9
3. v 2700 &9
4. = 1800 &9

Question Number : 104 Question Id : 54592722122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of money is invested at 40% p.a. compound interest,
compounded half-yearly. If the amount at the end of one and
half years is Rs.2,16,000, then find the sum ?

Options:

1. # Rs.1,10,000
2. v Rs.1,25,000
3. * Rs.1,50,000
4. » Rs.1,40,000

Question Number : 104 Question Id : 54592722122 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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T TR FT foder 40% <Iehgis AT, S &C 6 Al # ST
TANToTd ToRdT ST, 9T TohdT SATaT &1 IS 3¢ a¥ o 3d A
afer F9 2,16,000 &, ar Ofer ara siravl

Options:

1. = 1,10,000 ®
2. v 1,25,000 ¥
3. = 1,50,000 ¥
4. = 1,40,000 ¥4

Question Number : 105 Question Id : 54592722123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Suraj borrowed a sum of money from Ajay at a certain rate of
simple interest for two years and lent it to Vinay at same rate
of compound interest compounded yearly for two years. At
the end of two years he received C.I. of Rs.1230 and paid S.I. of
Rs.1200. Find the sum and rate of interest.

Options:

1. v Rs.12000, 5% p.a.
2. * Rs.10000, 5% p.a.
3. #= Rs.15000, 8% p.a.
4. » Rs.12000, 8% p.a.

Question Number : 105 Question Id : 54592722123 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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FIoT o & a¥ & ol HTIRoT sI1e &7 Uk AR av ™
3o & 9T 3uR form 3T ar av & fov arffs &7 & =Tgig
STl : I ATl TAoid [oRar 1T &, 1 AT &7 W Ay
T 3R &1l & a¥ & 3T A 38 Thgfg sarer 1230 s
fArem 31T 1200 9 T WTYROT AT T AT FRaAT| AT
hT ML T T AT HIeIT|

Options:

1. v 12000 ®9, 5% "fd a¥
2. = 10000 &9, 5% ufad a¥
3. = 15000 &9, 8% ufd a¥
4. = 12000 &9, 8% ufad a¥

Question Number : 106 Question Id : 54592722124 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

In how much time will a car cover a distance of 9000 metre
with a speed of 90 kmph.?

Options:

1.+ 0.1 Hour
2. = 0.2 Hour
3.« 0.3 Hour
4. = 0.4 Hour

Question Number : 106 Question 1d : 54592722124 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Tehdel THT H U w90 ToRAT 9far & hr arfer s &@T2r 9000
AT &1 glT I a3 e

Options:

1. v 0.1 T
2. = 0.2 T
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3. = 0.3 =@
4. = 0.4 T

Question Number : 107 Question Id : 54592722125 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

The speed of a car is 2 times the speed of a passenger train. If
the car travels at the speed of 85 kmph, what will be the
difference in the time taken by the passenger train and the
time taken by the car to cover 935 km.?

Options:

1. = 5 hours
2. v 11 hours
3. = 22 hours
4. = 8 hours

Question Number : 107 Question Id : 54592722125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk I HT AT, Tsh YHS gol ol MMt T 2 o1 &1 AT FR
85 TordAT Uiy =©¢ T arfy & AT FIAT & ar 935 AT gt o
el H YHeN ¢of 31X R @RI [ov 30 §AI & i 1 31
raar &7

Options:

1. = 5 €
2. v 11 =&
3. % 22 §e
4. » 8 T

Question Number : 108 Question Id : 54592722126 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Two cars P and () start at the same time from A and B which
are 240 km apart. If the two cars travel in opposite directions,
they meet after 2 hours and if they travel in the same
direction {(from A towards B) P meets Q after 8 hours. What is
the speed of the car P?

Options:

1. = 60 km/hr.
2. v 75 km/hr.
3. = 80 km/hr.
4. = 70 km/hr.

Question Number : 108 Question Id : 54592722126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& ® P 3T Q & fogsit e A 3K B @ v & §HY
TJerdr & Steh s 1 gdt 240 Fran €1 Ife al FR W
foudia feem & TordT § ar & 2 g g [Aed § 3w afg Q=
FRUF S M A AT BRI Rm) dedr g ar P, Q ¥ 8 =
g1 &erdr &, s P Fr afa = 27

Options:

1. = 60 Terav/EeT
2. v 75 Torav/Eer
3. = 80 TeRAT/Eer
4, = 70 fRANEer

Question Number : 109 Question Id : 54592722127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A finishes a work in 3 days, B finishes the same in 4 days and
C in 5 days. They take turns to finish the work A on the first
day, B on the second and C on the third day and then again A
and so on. On which day will the work get over?

Options:

1. %3
2. % 2
3.%5
4. v 4

Question Number : 109 Question Id : 54592722127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A Ush F FT 3 f&T # Q@ AT &, B 38T FF #1 4 & A
AT C, 5 féeT & T AT &1 I SR T & FTH T g, T8el
fee A, g foeT B it d fee C 30T ga: A 38T oRg 37
w foha fea TaATCd grem?

Options:

1. =

3
2. = 2
3. = 5
4. v 4

Question Number : 110 Question Id : 54592722128 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A spider climbs 10 metre of a pole in 20 minutes and slips
down 2 metre at the very moment. If it takes 3 hours to climb
on its top find the length of the pole.

Options:

1. v 74 Metre
2.« 72 Metre
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3. = 80 Metre
4. = 90 Metre

Question Number : 110 Question Id : 54592722128 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk Ahar 20 THee & T Uiel & 9T 10 HieT dok J&drl &
3T 34T &UT 2 HieT A 3T AET &1 IS e F oY U TOge
H 3 g 9T & al el hl ofas AT i

1. v 74 AT
2. » 72 HIET
3. = 80 AT
4. = 90 HIX

Question Number : 111 Question Id : 54592722129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

John can complete a work in 9 days, whereas John and Smith
together can complete the same work in 6 days. How long will
it take for Smith alone to complete the work?

Options:

1. = 15 Days
2. v 18 Days
3. * 54 Days
4. = 36 Days

Question Number : 111 Question Id : 54592722129 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

StieT [RET 1A T 9 faeT H YU T Tehal g, Safeh AT 3R
Siiel Teh &Y THORT 6 Taal H &1 FTH I [ T Fehd &
fEH T 37ehel HIH BT QT Fel A Tohclall THT o@19MT?

Options:
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1. = 15 faa
2. v 18 f&=T
3. % 54 faaT
4. » 36 f&=T

Question Number : 112 Question Id : 54592722130 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

GET IT ON
Google Play

The dimensions of a hall are should it be 150 x 80 x 120 cm.
How many persons can sit in the hall if each person requires

200 cube cm of air?

Options:

1. v 7200
2. = 7150
3. = 7250
4. % 7300

Question Number : 112 Question Id : 54592722130 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk BleT T 3TATH (IRATIT) 150 x 80 x 120 cm &1 T

Ucdeh ehferd ol 200 Tl AT &aT =hl HTaeTehal aldl &, Teohdel

T Bl # 8 Tehcd & 2

Options:

1. v 7200
2. = /71580
3. = 7250
4. = 7300

Question Number : 113 Question Id : 54592722131 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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A took 30 s to cross a rectangular field walking diagonally at
the rate of 40 m / min and B took the same time to cross the
same field along its sides walking at the rate of 56 m / min.
The area of the field is:

Options:

1. * 132 metre square
2.« 172 metre square
3. v 192 metre square
4. = 154 metre square

Question Number : 113 Question Id : 54592722131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, T IIATRR Hala &1 [@Roia: 40 #AffAae $r afg 91
et H 30 s odr g, 3T B, 56 AL/MAeIc FT aTad & a7 hr
HTT & BT STel H 3l 81 THAT oIl g1 HATel T &6 &

Options:

1. = 132 gat ez
2. % 172 & ast Aex
3. v 192 #Ar Tat #Hiel
4. » 154 gt Aex

Question Number : 114 Question Id : 54592722132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of length and breadth of a rectangle is 5 : 2 and the
perimeter is 70 cm. What is the area of the rectangle?

Options:

1. v 250 sq cm
2. = 400 sq cm
3. = 200 sq cm
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4. % 150 sq cm

Question Number : 114 Question Id : 54592722132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GET IT ON
Google Play

Uk I T ofFaTs 3N WIS T 3eqarad 5 : 2 § dur aRfd

70 @AY &1 3T KT &T%heT Tehdell &7

Options:

1. v 250 @eT TAT
2. % 400 Tt IHAY
3. = 200 gt |AT
4. = 150 gaf IHAT

Question Number : 115 Question Id : 54592722133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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DIRECTIONS : Shubh and Shaurya are two friends who lives
in a hostel. Shubh gets Rs.5000 as his pocket money per
month and Shaurya gets 6000 as his pocket money per month.
The expenses of Shubh and Shaurya are shown in pie chart.

Expenses of Shubh

saving, 9%

Misc, 18%

Petrol, 12%

Books, 12%

~\

Expenses of Shaurya

saving, 5%_,\“
-

Misc, 18%

Petrol, 14%

What is the difference between expenses made by Shubh and

Shaurya on room rent and mess?

Options:

1. = 784
2. % 586
3. v 640
4. = 720

Question Number : 115 Question Id : 54592722133 Question Type: MCQ Option Shuffling: Yes
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Correct Marks: 1 Wrong Marks: 0.25

forder: era7 3 o ar aIed &, S oo orEmEE 7 @ §
I gfd ATE YT Uiche HaT o ®7 # 5000 & fHed § 3T
oI T il ATE dihe Fell & &7 H 6000 & THeld & | 3
3T o F =TT F ged IRTG FH AT 1A E

_#E 22%

FAY F R 3T A ov g 3 o gEnr fev o s
Tl & ST TohdelT 3T 87

Options:

1. = 784
2. = 586
3. v 640
4. = 720
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Question Number : 116 Question Id : 54592722134 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

GET IT ON
Google Play

DIRECTIONS: Study the table carefully and answer the

following questions.

Number of washing machines and refrigerator manufactured

by a company

Year 2005 2006 2007 2008 2009
Washing 14400 | 20500 | 12800 | 16400 18600
Machine

Refrigerator | 12800 | 24700 | 19200 | 20200 14900

Approximately what was the percent decrease in number of

refrigerators manufactured in 2007 from 20067

Options:

1. v 22
2. % 26
3. % 28
4. % 30

Question Number : 116 Question Id : 54592722134 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25
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fAer: aoel T 37eTTA R faFaAToTEd Tl & 3cal dTelu-

FoRET FTeT g@rT Tofdad arferer Fefier 3 IMFeieT 1 F&ar

s 2005 | 2006 | 2007 |2008 2009
SRaRT Fafter | 14400 | 20500 | 12800 | 16400 | 18600
YReorex | 12800 | 24700 | 19200 | 20200 | 14900

2007 H TIfdd Iholiedl T T&AT 2006 H Ifdd g&ar &

ERGIRIGEHGRCIr N I

Options:

1. v 22
2. » 26
3. = 28
4. = 30

Question Number : 117 Question Id : 54592722135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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DIRECTIONS: The following pie chart shows budgetary
allotments for different categories. Study the graph to answer

the questions that follow.

P Others  PDirect Demand [PRoad and Railways  PAgriculture  Defence

Budget

Items displaying a ratio of nearly 1 : 15 are

Options:

1. = Defence and Direct demand

2. * Roads and railways and defences
3. = Direct demand and others

4. v Direct demand and Defence

Question Number : 117 Question Id : 54592722135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda2d7

e T ue =t fees ATt & Rv 98T 3reea geiar 81 %
& IeTTT HT T2l & 3 o

d91<

Hyrn By mfn Bpes i W Esm Bon

S 1: 15 & 3 Tad S arer aEgu gl

Options:

1. = T&TT 3N IcT&T @
2. » ggeh AN Yold Ud L&
3. = UcH& AT 3T 3T
4. v TcTET AT 3T L&

Question Number : 118 Question Id : 54592722136 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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DIRECTION : Study the following graph and answer the given
questions.

£ 300
E 200

£ 100

700
600
500

] Amount (Rs. in lakhs) invested in raw materials,

] value (Rs. in lakhs) of sales of finished goods

600

3
300
T 100 22
z 12i|||
19496

19495 19497 19498 ket

Year

2000

In 1996, what percent increase in the amount invested in
finished materials as compared to the previous year?

Options:

1. v 87.50 percent

2. # 30 percent

3. #= 62.50 percent
4. » 82.50 percent

Question Number : 118 Question Id : 54592722136 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25
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] e AT H e i o fdr (are e )

B e . ey

700 - —
600 500 52
500
375 400
5 300 - s00 225

19495 1996 19497 19498 3950

420

460

2000

1996 # & fUoel a¥ 1 Jelell # AR ATl W hd o ferder

A fordel ufaerd gie §357

Options:

1. v 87.50 wfaera
2. = 50 gfcrera

3. » 62.50 ufaerd
4. % 82.50 wufderd

Question Number : 119 Question Id : 54592722137 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

24

7

GET IT ON
Google Play

Directions: The following questions are to be answered on the
basis of sales turnover bar-chart for the years 1990 to 1995
given below:

500

Sales in Thousands of Rupees

400
300 -
200
100 -
0 - T T T T T
1990 1991 1992 1993 1994 1995

By what amount are the sales in 1995 more than those in

19917

Options:

1. = Rs. one hundred
2. = Rs. ten thousand
3. v Rs. one lakh
4. = Rs. ten lakh

Question Number : 119 Question Id : 54592722137 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25
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facer: fAeata@a weal & 3cax, 1990 ¥ 1995 & &g v v
foshT col3iiay aR-a1e & 39N W B

ot gomt 39w #

500

400

300 -~
200 -
100 A

0 - T T T T T
1990 19491 19492 19493 1994 1995

1991 1 Torelr & TrbY, 1995 & fohcsl ST ofr?

Options:

1. % Uh I T

2. % TH BolN ®Ud
3. v U ol 94
4, = 8 &g ¥4

Question Number : 120 Question Id : 54592722138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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DIRECTIONS: following graph shows the number of Bata and
Woodland shops in 5 cities of India.

190
180 1850
170 /\H 166
160 - 5
150 150
45

o \{\ e
130 \qz
120 i____‘h
110 11
100 T

A B C (] E

Bata Woodland

What is the average number of Bata shops in all 5 cities

together?

Options:

1. v 142
2. % 135
3. = 161
4. = 137

Question Number : 120 Question Id : 54592722138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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mmgﬁgwaﬁr

150

180 /\QU
170 T, T,

160

150 156
140

130

- 1ad

120

110

100

drcT

Tefl 5 el A Uk AT FIET T gohfell T 3HHT q&ar fhdsir

&7

Options:

142
2. = 135
3. = 161
4. = 137

1. ¢

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group?:
Break time:

Group Marks:

Isthis Group for Examiner?:

Revisit allowed for group Instructions?:

General English1

7
5459271097
0

0

No

No

0

20

No

Yes
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Maximum Instruction Time: 0
Minimum Instruction Time: 0
General English1
Section I1d : 5459271097
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section I d: 5459271315
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54592722139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

Eyebrow movement playing a major role in human
communication.

Options:

1. = Eyebrow movement

2. v playing

3. » a major role

4. » human communication

Question Number : 121 Question Id : 54592722139 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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|dentify the segment in the sentence which contains the

grammatical error from the given options.

Eyebrow movement playing a major role in human

communication.

Options:

1. = Eyebrow movement
2. ¢ playing
3. = a major role

4. = human communication

Question Number : 122 Question Id : 54592722140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the

grammatical error from the given options.

A number of worldwide shark attacks has grown at a steady

pace since 1900.

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all

candidates.
Options:

1. A number of
2. worldwide
3. has grown
4. since 1900

Question Number : 122 Question 1d : 54592722140 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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|dentify the segment in the sentence which contains the

grammatical error from the given options.

A number of worldwide shark attacks has grown at a

steady pace since 1900.

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. A number of
2. worldwide

3. has grown

4. since 1900

Question Number : 123 Question Id : 54592722141 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

If we doesn’t plant trees, there may be nothing left for our
children.

Options:

1. = If we

2. v doesn’t plant
3. = nothing

4. = our children

Question Number : 123 Question 1d : 54592722141 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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|dentify the segment in the sentence which contains the

grammatical error from the given options.

If we doesn’t plant trees, there may be nothing left for our

children.

Options:

1. = If we

2. v doesn’t plant
3. = nothing

4. = our children

Question Number : 124 Question Id : 54592722142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

In total, there were around six orcas spread off in groups of
two or three

Options:

1. = In total

2. * were around
3. v spread off

4. = {wo or three

Question Number : 124 Question Id : 54592722142 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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|dentify the segment in the sentence which contains the

grammatical error from the given options.

In total, there were around six orcas spread off in groups of

two or three

Options:

1. = In total

2. = were around
3. v spread off
4. = two or three

Question Number : 125 Question Id : 54592722143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ldentify the segment in the sentence which contains the

grammatical error from the given options.

Though leopards look fearsome, they avoid humans and can

be tricky to spotting

Options:

1. = Though

2. % look fearsome

3. = they avoid

4. v to spotting

Question Number : 125 Question 1d : 54592722143 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Identify the segment in the sentence which contains the
grammatical error from the given options.

Though leopards look fearsome, they avoid humans and can
be tricky to spotting

Options:

1. = Though

2. » look fearsome
3. = they avoid

4. v to spotting

Question Number : 126 Question Id : 54592722144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

The Samoan islands are fast sinking than expected due to
global warming.

Options:

1. v are sinking faster

2. = 18 sinking fast
3. » are fast sink
4, = No substitution required

Question Number : 126 Question Id : 54592722144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Select the most appropriate option to substitute the
underlined segment in the given sentence. If there 1s no

need to substitute It, select option No substitution required.

The Samoan islands are fast sinking than expected due to

global warming.

Options:

1. v are sinking faster
2. = 1s sinking fast

3. = are fast sink

4. = No substitution required

Question Number : 127 Question Id : 54592722145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, elect option No substitution required.

Somehow, the sea turtles has survive the ice ages and the
extinction event.

Options:

1. = have survive

2. v have survived

3. = had been survive

4, = No substitution required

Question Number : 127 Question Id : 54592722145 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Select the most appropriate option to substitute the
underlined segment in the given sentence. If there 1s no

need to substitute It, elect option No substitution required.

Somehow, the sea turtles has survive the ice ages and the

extinction event.

Options:

1. = have survive
2. v have survived
3. # had been survive

4. = No substitution required

Question Number : 128 Question Id : 54592722146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, elect option No substitution required.

The total number of plastic toothbrushes being produce, used,
and throw away each year has grown steadily.

Options:

1. = being produce, use ,and throw

2. = been produced, used, and throw
3. v being produced, used, and thrown
4, = No substitution required

Question Number : 128 Question Id : 54592722146 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Select the most appropriate option to substitute the
underlined segment in the given sentence. If there 1s no

need to substitute It, elect option No substitution required.

The total number of plastic toothbrushes being produce,

used, and throw away each year has grown steadily.

Options:

1. = being produce, use ,and throw
2. = been produced, used, and throw
3. v being produced, used, and thrown

4. = No substitution required

Question Number : 129 Question Id : 54592722147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, elect option No substitution required.

Hyenas might have a bad reputation, but they are one of
Africa’s most successful predators.

Options:

1. = more successful predators

2. * much successful predator
3. » most successful predator
4. v No substitution required

Question Number : 129 Question Id : 54592722147 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Select the most appropriate option to substitute the
underlined segment in the given sentence. If there 1s no

need to substitute It, elect option No substitution required.

Hyenas might have a bad reputation, but they are one of

Africa's most successful predators.

Options:

1. = more successful predators
2. = much successful predator
3. = most successful predator

4. v No substitution required

Question Number : 130 Question Id : 54592722148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, elect option No substitution required.

Encounters with the big fish are rare, but it can be deadly.

Options:

1. v but they can be

2. » as they are
3. = but it can’t be
4. = No substitution required

Question Number : 130 Question Id : 54592722148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Select the most appropriate option to substitute the
underlined segment in the given sentence. If there 1s no

need to substitute It, elect option No substitution required.

Encounters with the big fish are rare, but it can be deadly.

Options:

1. v but they can be

2. % as they are
3. = but it can’t be

4. = No substitution required

Question Number : 131 Question Id : 54592722149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Every few yards, he digs a shallow hole in the rich, red soil
and the leafy sapling of an ebony tree.

Options:

1. v plants
2. % stocks
3. = establish
4. = introduce

Question Number : 131 Question Id : 54592722149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Select the most appropriate word to fill in the blank.

Every few yards, he digs a shallow hole in the rich, red

soll and the leafy sapling of an ebony tree.

Options:

1. v plants
2. % stocks
3. % establish

4. = Introduce

Question Number : 132 Question Id : 54592722150 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Tiger and bull sharks are two species often found the
coast and are known to bite people.

Options:

1. = in

2. v along
3. % across
4. = aboard

Question Number : 132 Question Id : 54592722150 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Tiger and bull sharks are two species often found

the coast and are known to bite people.

Options:
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1. = In
2. v along

3. % across

4. = aboard

Question Number : 133 Question Id : 54592722151 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Photographers have been to take iconic pictures of the
world’s highest mountain, the Mount Everest.
Options:

1. = thrusting
2. = defeating
3. v striving
4, = pushing

Question Number : 133 Question Id : 54592722151 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Photographers have been to take iconic pictures of

the world’s highest mountain, the Mount Everest.

Options:

1. = thrusting
2. = defeating
3. v striving

4. % pushing
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Question Number : 134 Question Id : 54592722152 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

A study has found that dogs are uniquely skilled

understanding gestures.
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.
Options:

1. of
2. 1n
3. off
4. at

Question Number : 134 Question Id : 54592722152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

A study has found that dogs are uniquely skilled

understanding gestures.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. of
2. 1n
3.off
4., at

Question Number : 135 Question Id : 54592722153 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Select the most appropriate word to fill in the blank.

Lord Brummell became a symbol of a new masculine style,
one that still the way people dress today.

Options:

1. v dictates
2. = predict
3. = observes
4, = assigns

Question Number : 135 Question Id : 54592722153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Lord Brummell became a symbol of a new masculine style,

one that still the way people dress today.

Options:

1. v dictates

2. = predict
3. = observes
4. % assigns

Question Number : 136 Question Id : 54592722154 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

A tiny, old star, just 12 light-years away might two
rocky planets, astronomers and a new study has found.

Options:

1. = supply
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2. v host
3. = cluster
4. = parade

Question Number : 136 Question Id : 54592722154 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

A tiny, old star, just 12 light-years away might two

rocky planets, astronomers and a new study has found.

Options:
1. = supply
2. v host

3. % cluster

4, = parade

Question Number : 137 Question Id : 54592722155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Images in the media can shape how people see each other,
to bias and consequences that impact us all.

Options:

1. = lead

2. » leads
3. v leading
4. = led

Question Number : 137 Question Id : 54592722155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Select the most appropriate word to fill in the blank.

Images In the media can shape how people see each other,

to bias and consequences that impact us all.

Options:

1. = lead
2. % leads

3. v leading
4. = led

Question Number : 138 Question Id : 54592722156 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

No matter where you go and what type of safari you ,
timing is the key.

Options:

1. = choosing
2. » chosen
3. = chose

4. v choose

Question Number : 138 Question Id : 54592722156 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

No matter where you go and what type of safari you

, timing I1s the key.

Options:
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1. = choosing
2. ® chosen
3. ® chose

4. v choose

Question Number : 139 Question Id : 54592722157 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the following sentences in their correct order to
form a meaningful paragraph.

A: We have hunted them, snagged them, hit them with ships,
and choked them with plastic bags.

B: The risks facing the seventh, Australia’s flat back, are less
clear.

C: And yet, somehow, these creatures survived ice ages and
the extinction event that wiped out the dinosaurs.

D: As the world struggles with diversity loss, six of world’s
seven specles of sea turtles are considered threatened or
endangered.

Options:

1. v ADBC
2. = ABCD
3. = DBCA
4.« ACBD

Question Number : 139 Question Id : 54592722157 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Rearrange the following sentences In their correct order to

form a meaningful paragraph.

A: We have hunted them, snagged them, hit them with
ships, and choked them with plastic bags.

B: The risks facing the seventh, Australia's flat back, are

less clear.

C: And yet, somehow, these creatures survived ice ages

and the extinction event that wiped out the dinosaurs.

D: As the world struggles with diversity loss, six of world’s
seven specles of sea turtles are considered threatened or

endangered.

Options:

1. v ADBC
2. » ABCD
3. = DBCA
4. = ACBD

Question Number : 140 Question Id : 54592722158 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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A sentence has four parts, rearrange the given parts so as to

form a meaningful sentence.

A: A day to celebrate all fathers
B: what began as one woman’s
C: tribute to her dad, turned

D: into a life-long mission for

Options:

1. = ABCD
2. v BCDA
3. = BDCA
4.« ADBC

Question Number : 140 Question Id : 54592722158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has four parts, rearrange the given parts so as

to form a meaningful sentence.

A: A day to celebrate all fathers
B: what began as one woman’s
C: tribute to her dad, turned

D: into a life-long mission for

Options:

1. = ABCD
2. v BCDA
3. = BDCA
4. = ADBC
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Rearrange the following sentences in their correct order to
form a meaningful paragraph.

A: At first, years ago, it was just an occasional piece of plastic
trash that Kahi picked up on the beach cleanups.

B: But one day Kahi spotted something particularly surprising
in the beach cleanup: a toothbrush.

C: A straw here, a takeout container there.

D: Now, in any given Hawail beach cleanup, he says, it’s not
uncommeon to pick up 20 or even 100 toothbrushes.

Options:

1. = ABCD
2. = CBAD
3. v ACBD
4. = CDBA

Question Number : 141 Question Id : 54592722159 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Rearrange the following sentences In their correct order to

form a meaningful paragraph.

A: At first, years ago, It was Just an occasional piece of

plastic trash that Kahi picked up on the beach cleanups.

B: But one day Kahi spotted something particularly

surprising in the beach cleanup: a toothbrush.

C: A straw here, a takeout container there.

D: Now, In any given Hawall beach cleanup, he says, Iit's

not uncommon to pick up 20 or even 100 toothbrushes.

Options:

1. = ABCD
2. = CBAD
3. v ACBD
4. = CDBA

Question Number : 142 Question Id : 54592722160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Impolite

Options:

1. v Rude
2. =« Fair
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3. = Reasonable
4. = Humane

Question Number : 142 Question Id : 54592722160 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Impolite

Options:

1. v Rude

2. = Fair

3. = Reasonable

4. = Humane

Question Number : 143 Question Id : 54592722161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Boost

Options:

1. = Increase
2. v Decline

3. « Memorize
4. = Exclude

Question Number : 143 Question Id : 54592722161 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Boost
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Options:

1. = |ncrease
2. v Decline

3. * Memorize

4. = Exclude

Question Number : 144 Question 1d : 54592722162 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Remorse

Options:

1. = Pleasure

2. » Decency

3. v Regret

4. = Confidence

Question Number : 144 Question Id : 54592722162 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Remorse

Options:

1. = Pleasure
2. = Decency
3. v Regret

4. = Confidence

Question Number : 145 Question Id : 54592722163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Select the antonym of the given word.

Imprison

Options:

1. v Release
2. » Enslave
3. = OQccupy
4. = Compensate

Question Number : 145 Question 1d : 54592722163 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Imprison

Options:

1. v Release
2. ® Enslave
3. = QOccupy

4. = Compensate

Question Number : 146 Question Id : 54592722164 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Bizarre

Options:

1. = Similar
2. v Unusual
3. » Ordinary

GET IT ON
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4. = Dependable

Question Number : 146 Question Id : 54592722164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Bizarre

Options:

1. = Similar

2. v Unusual

3. = Ordinary

4. = Dependable

Question Number : 147 Question Id : 54592722165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. v Impateint
2. = Thoroughly
3. = Fortunate
4. = Particular

Question Number : 147 Question Id : 54592722165 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. v Impateint
2. = Thoroughly

3. % Fortunate

GET IT ON
Google Play
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4. = Particular

Question Number : 148 Question Id : 54592722166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = Specially

2. v Expecially

3. = Specialist

4, = Speclalization

Question Number : 148 Question Id : 54592722166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = Specially
2. v Expecially
3. = Specialist
4. = Specialization

Question Number : 149 Question Id : 54592722167 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = Summarize
2. = Inhuman

3. v Rediculous
4, = Receptionist

Question Number : 149 Question Id : 54592722167 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.
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Options:

1. = Summarize
2. ® |nhuman
3. v Rediculous

4. = Receptionist

Question Number : 150 Question Id : 54592722168 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

A square deal

Options:

1. v A fair and honest transaction
2. = A false arrangement

3. = A reasonable argument

4, = Improper Conduct

Question Number : 150 Question Id : 54592722168 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

A square deal

Options:

1. v A fair and honest transaction
2. = A false arrangement
3. = A reasonable argument

4. = |mproper Conduct

Question Number : 151 Question Id : 54592722169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GET IT ON
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Select the meaning of the given idiom.

In Black and White

Options:

1. = In a copy of two

2. v Written down or in print
3. = Lacking imagination

4. = In a verbal communication

Question Number : 151 Question 1d : 54592722169 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

In Black and White

Options:

1. = In a copy of two

2. v Written down or In print
3. # Lacking imagination

4. = In a verbal communication

Question Number : 152 Question Id : 54592722170 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

A white elephant

Options:

1. = A rare sight
2. = A reasonable purchase
3. v An expensive item that is troublesome or useless
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4. = A thing considered to be precious

Question Number : 152 Question Id : 54592722170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

A white elephant

Options:

1. = A rare sight
2. = A reasonable purchase
3. ¥ An expensive item that Is troublesome or useless

4. = A thing considered to be precious

Question Number : 153 Question Id : 54592722171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

A room or building in which dead bodies are kept

Options:

1. v Mortuary

2. = Obltuary

3. # Postmortem
4. = Funeral

Question Number : 153 Question Id : 54592722171 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Select the word which means the same as the group of

words given.

A room or building in which dead bodies are kept

Options:

1. v Mortuary
2. = Obituary
3. ® Postmortem

4. = Funeral

Question Number : 154 Question Id : 54592722172 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

Extreme or irrational fear of the night or of darkness.

Options:

1. = Acrophobia

2. v Nyctophobia
3. » Chronophobia
4, « Hydrophobila

Question Number : 154 Question Id : 54592722172 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

Extreme or irrational fear of the night or of darkness.

Options:
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1. = Acrophobia
2. v Nyctophobia
3. = Chronophobia
4. = Hydrophobia

Question Number : 155 Question Id : 54592722173 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

An independent person or body officially appointed to settle a
dispute.

Options:

1. = Referee

2. = Curator

3. v Arbitrator
4. « Amateur

Question Number : 155 Question 1d : 54592722173 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

An Independent person or body officially appointed to settle

a dispute.

Options:

1. = Referee

2. = Curator
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3. v Arbitrator

4. = Amateur

Sub-Section Number: 2
Sub-Section 1d: 5459271317
Question Shuffling Allowed : Yes

Question Id : 54592722174 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension
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Answer the questions based on the following passage.

Global warming is the slow increase in the average
temperature of the earth’s atmosphere because an increased
amount of the energy (heat) striking the earth from the sun is
being trapped in the atmosphere and not radiated out into
space.

The earth’s atmosphere has always acted like a greenhouse to
capture the sun’s heat, ensuring that the earth has enjoyed
temperatures that permitted the emergence of life forms as
we know them, including humans.

Without our atmospheric greenhouse the earth would be very
cold. Global warming, however, 1s the equivalent of a
greenhouse with high efficiency reflective glass installed the
wrong way around.

Ironically, the best evidence of this may come from a terrible
cooling event that took place some 1,500 years ago. Two
massive volcanic eruptions, one year after another placed so
much black dust into the upper atmosphere that little
sunlight could penetrate. Temperatures plummeted. Crops
failed. People died of starvation and the Black Death started
its march. As the dust slowly fell to earth, the sun was again
able to warn the world and life returned to normal.

Today, we have the opposite problem. Today, the problem is
not that too little sun warmth is reaching the earth, but that
too much is being trapped in our atmosphere.

So much heat is being kept inside greenhouse earth that the
temperature of the earth is going up faster than at any
previous time in history. NASA provides an excellent course
module on the science of global warming.
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Sub questions

Question Number : 156 Question Id : 54592722175 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select a suitable title for the given passage.

Options:

1. v Understanding Global Warming
2. » Climate change and its impact
3. = The greenhouse gases

4. = The Earth’s Atmosphere

Question Number : 157 Question Id : 54592722176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The passage describes ‘opposite problem’ as one of the
following:

Options:

1. = Too little sun warmth 1s reaching the earth

2. v The fact that too much sun warmth is being trapped in
earth’s atmosphere

3. = Temperature of the earth is low
4, = The earth’s atmosphere is stable.

Question Number : 158 Question Id : 54592722177 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

The passage is most likely to be taken from:

Options:

1. = A newspaper

2. = A research publication
3. v A sclence Journal

4, = A weekly magazine

Question Number : 159 Question Id : 54592722178 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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From the given options, choose the one that is most similar to
the word ‘Radiated’ as used in the passage.

Options:

1. = Propagate
2. = Circulate
3. = Broadcast
4. v Reflected

Question Number : 160 Question Id : 54592722179 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given passage, the earth’s atmosphere is being
compared to:

Options:

1. v A greenhouse

2. » A cooling agent

3. = Volcanic eruptions
4. = Black Dust

Question Id : 54592722174 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension
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Answer the questions based on the following passage.

Global warming is the slow increase in the average
temperature of the earth’s atmosphere because an increased
amount of the energy (heat) striking the earth from the sun
Is being trapped in the atmosphere and not radiated out into
space.

The earth’s atmosphere has always acted like a greenhouse
to capture the sun’s heat, ensuring that the earth has
enjoyed temperatures that permitted the emergence of life
forms as we know them, including humans.

Without our atmospheric greenhouse the earth would be
very cold. Global warming, however, is the equivalent of a
greenhouse with high efficiency reflective glass installed the
wrong way around.

Ironically, the best evidence of this may come from a
terrible cooling event that took place some 1,500 years ago.
Two massive volcanic eruptions, one year after another
placed so much black dust into the upper atmosphere that
little sunlight could penetrate. Temperatures plummeted.
Crops failed. People died of starvation and the Black Death
started its march. As the dust slowly fell to earth, the sun
was again able to warn the world and life returned to
normal.

Today, we have the opposite problem. Today, the problem
Is not that too little sun warmth is reaching the earth, but
that too much is being trapped in our atmosphere.

So much heat is being kept inside greenhouse earth that
the temperature of the earth is going up faster than at any
previous time in history. NASA provides an excellent course

module on the science of global warming.
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Sub questions

Question Number : 156 Question Id : 54592722175 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select a suitable title for the given passage.

Options:

1. v Understanding Global Warming
2. = Climate change and its impact
3. ®= The greenhouse gases
4.

= The Earth’s Atmosphere

Question Number : 157 Question Id : 54592722176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The passage describes ‘opposite problem’ as one of the

following:

Options:

1. = Too little sun warmth is reaching the earth

2. v The fact that too much sun warmth 1s being trapped In

earth’s atmosphere
3. = Temperature of the earth I1s low

4. = The earth’s atmosphere I1s stable.

Question Number : 158 Question Id : 54592722177 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

The passage Is most likely to be taken from:

Options:

1. = A newspaper
2. = A research publication

3. v A science Journal
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4. = A weekly magazine

Question Number : 159 Question Id : 54592722178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given options, choose the one that is most similar

to the word ‘Radiated’” as used In the passage.

Options:

1. = Propagate
2. = Circulate

3. = Broadcast

4. v Reflected

Question Number : 160 Question Id : 54592722179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given passage, the earth’s atmosphere Is being

compared to:

Options:

1. v A greenhouse

2. » A cooling agent
3. # Volcanic eruptions
4

» Black Dust
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Question Number : 161 Question Id : 54592722180 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl § & "dagl Tdhd aif @r Ie[c g2

Options:

Question Number : 161 Question Id : 54592722180 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

foreTTelad H & 'Fasar [ohd gar &l LTeg &7

Options:

1. = dcdH
2. » dgd
3. v eIt
4. = Tad=r

Question Number : 162 Question 1d : 54592722181 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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ST STe[E, § Uqdd gl

Options:

1.3
2. % T
3. v @
4. % 3N

Question Number : 162 Question Id : 54592722181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STATERT e H T gl

Options:

1. = §
2.« ¥
3. v TRT
4, = N

Question Number : 163 Question Id : 54592722182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 163 Question Id : 54592722182 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

oA & Fiea-ar ey &7

Options:

1. » T gley
2. v TUoldd gleer
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3. = famer ey
4. = IUT Hiey

Question Number : 164 Question Id : 54592722183 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

TdaT Srec; # GHTE 2

Options:

1. * &g 9uTE

2. % AT Wi GATE
3. v TgI I

4. » DHYRT GHTY

Question Number : 164 Question Id : 54592722183 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

faerm ersg & AN B

Options:

1. = gdeq HHTY

« ITSIRT AT AT

2.
3. v T @AM
4. = FHEIT TATH

Question Number : 165 Question Id : 54592722184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& I 3l
Options:

1. v STTddTerdh <

2. & HIcdT<h <1

3. * GYZATID Gl

4, = SIATID G

Question Number : 165 Question Id : 54592722184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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R) gar &l
Options:

1. v SITadrd<sR g1

2. = HTadrdsr Gl

3. = HHgAraS HAl

4. % gk g4l

Question Number : 166 Question Id : 54592722185 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

THHTel I H & Thdl SIe[c, ar 379 "UH’ 87

1. = 3TeTiTchen

2. % GET,
3. % TR

4. v AT

Question Number : 166 Question Id : 54592722185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o @d & & forg s T 37T 'OH §7?

Options:

1. % 3Tellfehen
2. = g@ET

o

3. % MR
4.#31?IDTI?T

Question Number : 167 Question Id : 54592722186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

WiTd™ ere(c T aT 319 82

Options:

1. = HiTaar
2. v BT
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3. % dHa
4, = M&

Question Number : 167 Question Id : 54592722186 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

MY ersg &1 AT 37T &7

Options:

1. = oy

2. v 3¢
3. = dEN
4. = AT

Question Number : 168 Question Id : 54592722187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl # ¥ U DT Tgigerelt Tl g?

Options:

1. » gyt
2. % 9Tl
3. * Trgu
4, v qIEu

Question Number : 168 Question Id : 54592722187 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

AT @d & & 'l &l qIR—IdT dal g7

Options:

1. « Ggfoh
2.
3. = gyl
4,

Question Number : 169 Question Id : 54592722188 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Addai247

ST T [CIeTH STE 52

Options:

1. qrepet
2. v Uidgel
3. * el
4. % ITgPetT

Question Number : 169 Question Id : 54592722188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3feTehel T faelld ereg &7

Options:

1.*@@
2.J1;|‘1-T:'IT=I:Q_<>F
3. » 37w

4, % 3TaTholel
=20

Question Number : 170 Question Id : 54592722189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sad SIS, AR Xepd AT el et el ]l

G (3T o | og AT AT Tl

Options:

1. » GADY
2. v T

3.« yiag®
4. = 3TG- =

Question Number : 170 Question Id : 54592722189 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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3RIT 9T TRt N T ST g SifeiT]

Het (3@ & TTHA) T8 AATdh T &

Options:

1. = OHRE
2. v Ucgey
3. = ylagfee

4. » 3TE- HIHA

Question Number : 171 Question Id : 54592722190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl R Terdheldl # & (SiHel) Q€S @I AT e

Options:

1. » g
2. % YT

3. % g9g
4, v qHq

Question Number : 171 Question Id : 54592722190 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

ferifelad TR [Qehedl H & (SFd) 26 I IIdel H|

Options:

1. = fagrel
2. = #R

3. = gdg

-2

4. v @ldd

Question Number : 172 Question Id : 54592722191 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

e T TeleTIH 2TeC 3

Options:
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1. » Sfeq
2. % ST
3. v Il
4, » 9

Question Number : 172 Question Id : 54592722191 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Her' T TOellA orsg &

Options:

1. = Sad
2. % 3T&Lm
3. v drdrel
4, = $TafT

Question Number : 173 Question Id : 54592722192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T8 § DIF-HT A "Dy Dl GIigelel Tl g?
Options:

L. = aqa

2. % @

3. % gy

4. TG

Question Number : 173 Question Id : 54592722192 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

ZoTH & HIT-TT e 'Teleh' T TATITRT T8l §7

Options:

1.*‘3?—!3'[

2. # hddel
3. % TFOT
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4. v uge

Question Number : 174 Question Id : 54592722193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SIS’ T T 37 3
Options:

1. * U i 3T

2. * S{IeT T 3T
3. v UG i 3T
4, = Ugel Pl AT

Question Number : 174 Question Id : 54592722193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATSaTEeT R FIAT AT &

Options:

1. = O T AT

2. = STaTel <hl 3TeT
S.wmgaﬁrm
4, = HEST hT 39T

Question Number : 175 Question Id : 54592722194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THiel G H & DI-8T U JIH FATTET 82

Options:

1. v TqLT-UTaTor
2. % rA-Icay
3. * AT

4. » qhich-GHT

Question Number : 175 Question 1d : 54592722194 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

farafeliad & & FlT-97 U J7A FATEN §7

Options:
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1. v cdT-9ryToT
2. » UEA-Tgag

3. = oEH-9%
S 2

4. = TFI-GHATS

Question Number : 176 Question Id : 54592722195 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

THHATel I # & DI-8T UGS Teh Jiool 1T g?

Options:

1. v pUST
2. % g+
3. = dq&r
4. = AT

Question Number : 176 Question Id : 54592722195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AeaTo@a & & HiaT-aT 2sg Uah g'f%‘oiﬂ a7

Options:

1. v sh9sT
2. = Blfal
3. « dr
4, = ardr

Question Number : 177 Question 1d : 54592722196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl # § Tehd e[, T TINT G Uehera H gidT g?

Options:

1. = 70T
2. % T
3. v ST
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4. % g

Question Number : 177 Question Id : 54592722196 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

farafoi@a & @ oFg esg &1 WAeT 9¢g Uehadd A 8IAT &7

Options:

1. = HTOT

gefal
3. v Sadr
4. = 31

Question Number : 178 Question Id : 54592722197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GHETE Bh DT TAg 5:

Options:

1. = 7, T
2. % &, Tlq
3.,
4, %

Question Number : 178 Question Id : 54592722197 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

JFded R &1 Teg &

Options:

= #H, W
&, foiw
3. v 0, I, T
4. = &

Question Number : 179 Question Id : 54592722198 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T 5 B B
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Options:

1. v Bg:
2. % U
3. % qF
4, % TS

Question Number : 179 Question Id : 54592722198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JadTH & 9 &

Options:
1. v B&:
2. = Ui
3. = dlef
4. = S

Question Number : 180 Question Id : 54592722199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST TerQraur fehdT e[ <hl HTAT, eI, ATUloT <l 1Y DI g Ieg Dgl SIIdl
8

Options:

1. = GAAIHE LT

2. * TUICITIR TarQrguT
3. v URATUETRIG Taergor

4. » GGITeTere fergrgur

Question Number : 180 Question Id : 54592722199 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

i faRIvoT fohelT T T ATHT, Tefel, ATAclel T Y Fd &

3og al SIdT &

Options:

1. % Odellideh TIAYOT
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2. = JUTATI aetyor
3. v UNATUERS aehor
4. « OEIETIF TQeryoT

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions?:

Maximum Instruction Time:
Minimum Instruction Time:

Section 1d :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:

Section Marks:

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

Question Number : 181 Question Id : 54592722200 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

T, W, &, |, H T JER g

Options:

1. = &5
2. v ANYS

3. = qTe]

General Hindi2

10
5459271100
0
120
No
No
0
20
No
Yes
0

0

General Hindi?

5459271100
1

Online
Mandatory
16

16

20

1
5459271319
Yes
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4. % 2d

Question Number : 181 Question Id : 54592722200 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

g, B, &, ¥, # & 3IR0 &

Options:

1. = o
2. v 3ISE
3. = dTq
4. = g

Question Number : 182 Question Id : 54592722201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST ST3THT T Il Ig a1 STH [hd TehIL T g7

Options:

1. * 9¢ CIE g

2. % GIPd AT
3. v 9T a1

4, * g ATF

Question Number : 182 Question Id : 54592722201 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

ST FI3ET 39T FIeEl g T SaH hd TR AT &7

Options:

1. = Il dlad

2. % i—i-{-ljcl'd CIER)
3. v T&ET a=

4. » HSEATIH Tl

Question Number : 183 Question Id : 54592722202 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl G H & DI-8T Y ATHT 7
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1. » FAYTA & PoTUid TG Teb gl
2. v GHUTd & PoTyUid gl

3. * GHUId g PelUid 1g Teh gl
4. » YT aT Pporuid I geb gl

Question Number : 183 Question Id : 54592722202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafeli@d & & Si-A7 oqg arFg &7

Options:

1. = wq%a‘ghmqfa E I+ ©l
2.@wq%a‘g«—om‘%r%|
3. « gryfa 98 iwm'l?i & T &

e

4. = m:qﬁra’rghowf?l I& Th &

-

Question Number : 184 Question Id : 54592722203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAHATel I # & DI-8T Y AT g7

Options:

1. % S[ths[el Hd Silell

2. % s[thslel T el
3. v Wl #d siell

4. % el STell

Question Number : 184 Question 1d : 54592722203 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

farafeli@d & @ Fla-ar qg arsFg g7

Options:

1. = Shofel HT Slell
2. = dWolel o slell
3. v Wolel A Srell

GET IT ON
Google Play



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda2d7

4. = Holel Slell

Question Number : 185 Question Id : 54592722204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl & § & "@UT T Sgera- & 6T Il g2

Options:

1. * Puralt
2. v Ul

3. % PUTY
4, * PHdl

Question Number : 185 Question Id : 54592722204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fefemaa # & ‘&1 = Sgade § 1 grar g7

Options:

1. = FoT3f

2. v &l
3. = FUW
4. = FgaAdr

Question Number : 186 Question Id : 54592722205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T # ¥ "hIgell” &7 dgad €0 pdT gidl g2
Options:

1. = ITet
2. % ITel
3. = Pl
4. v BIIAT

Question Number : 186 Question 1d : 54592722205 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao @&a & @ 'SIIeT & Sgade T 1 alar &7

Options:
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Question Number : 187 Question Id : 54592722206 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

3T ehgl ST g 82 37 Pl 8 & Tehdd TehIT ohl aITpd 27

Options:

1. » G2 dTerd
2. v R[S
3. * SBIATIAD

4. = TATdaTa®

Question Number : 187 Question Id : 54592722206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T FaEl o 38 &7 3 I gioc & hg TR &1 g g7

Options:

1. » Heg araeh

2. v UReldl<l<sh

3. = ST

4. » TArgares

Question Number : 188 Question Id : 54592722207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"3ITEIT AIR-3TUT SIET ellenlich @I 31 T g2

Options:

1. v ST Hel
2. % QTET H QTG AT
3. » YIS gl Bl
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4. % elIT-3MeTIT Tg1

Question Number : 188 Question Id : 54592722207 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

'HTAT STA-31TeT §eT ollehlierd T 37T AT §7

Options:

1. v u?igljcm Aol

2. = QAT H onfdel &laT
3. % HIS SHIT Hal
4.

x  37old1-3Tc19T TGl

Question Number : 189 Question Id : 54592722208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'Jelc TG FLeil I ellenlTch ol 37 HdT 52

1. * 3MUAT B PA]
2. v AT P B

3. % 3T Prd %-H?i g P

4. « TTHET g

Question Number : 189 Question Id : 54592722208 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

'Sec S SRoll ' ollehiTehed &l 32T T &7

Options:

1. % 39aAT ST el
2. v TRIT H1T FILar

3. = 37U S gAY § LGl

4. = IEET Bl
ot

Question Number : 190 Question Id : 54592722209 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

"o GoAT™T HgTae T 372 T g7
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Options:

1. * ST ARAT

2. * TTeTelTST

GET IT ON
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3. * clleald gil
4, v €& AT

Question Number : 190 Question Id : 54592722209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

M Fellell HEAY T 3T AT &7

Options:

1. % B[9T AT
2. % TToTeTol
3. = WATeold BT

4, v & STl

Question Number : 191 Question Id : 54592722210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ut TLg gIAT HgTad &1 31 RdT 52

Options:

1. * AT LT BT

2. * g T g

3. v Gd ol UTYd BTl
4, * I BT qOT ST

Question Number : 191 Question Id : 54592722210 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

al INE Bl HFTAX T 3T F7T 87

Options:

1. = UTT LT SIeTar
2.ma§?raqgmaﬁm

3. v Gd ollH HUTCd hial
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4. = G hI AT SATAT

Question Number : 192 Question Id : 54592722211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=7 & ISR BT Rig B2

Options:

1. =,
2. % |
3. % ;
4, v ;

Question Number : 192 Question Id : 54592722211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T O MEAUH Sla-ar Res 87

Options:

1. = |

2.
3. %
4. v

1

Question Number : 193 Question Id : 54592722212 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

STeT Tl STE[S et SToMTT GQIT+IT BT al egh T TANT TchaT ATaT &l

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. quf Torm feieg/ 30 Tk Teivg
2. WS o g
3. qu e

4. 3rerd To g

Question Number : 193 Question Id : 54592722212 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda2d7

ST [ROY eTeg ST 37e1eT ZRITaT & ar Igr T ST
foraT ST &1

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. o7 ToRTH Reg/ 39 f9UA Feg
2. vedd eg
3. quT faarA

4. JTdIvl 'Eirs

Question Number : 194 Question Id : 54592722213 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

gy, TeruTe, Tagwa, U, o, GHATY, Y A & 91¢ gad g
eITelT TaRTH Telv[g hgelldT g

Options:

1. * ZFINTp o g
~,

2. % GeFTD oI g

3. v TagaaTicatye o g

4. » ILAX T g

Question Number : 194 Question Id : 54592722213 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

gy, fowre, f9&AY, %om, gol, §&ldd, g sl & &g
UG glel dTell oA RIeg shgarnar &:

Options:

1. = groleh og

2. = gedrdeh <ea

3. v Araafearas Reg

4, » 3G o8

Question Number : 195 Question Id : 54592722214 Question Type: MCQ Option Shuffling : Yes
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Correct Marks: 1 Wrong Marks: 0.25

S8 4 g9 U PIN-9T g7
Options:
1.« A

2 % T 1t
3 W T 1T Ir
4, = X

Question Number : 195 Question Id : 54592722214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SdH & &9 US Hla-dr &7

Options:
M

1. v

2. g Mon

3. g Monon

4, = X
Sub-Section Number: 2
Sub-Section Id: 5459271320
Question Shuffling Allowed : Yes

Question Id : 54592722215 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Question Label : Comprehension
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T TEXTSr T TT 31 TRITSr & SITR U Uil W 10U MY 21 Terier &t
EITYE D Ug TAT Tcdeh Uy # R [ddhedl H & Fg! ey gl

‘Y JTELT S &7 Hol H gl GAT SRI-FHIT T WU A-ATEAT H 9
h Hgqd ol el [T gl gueiiel AZITET T 3Md GUA-BIC-T-BIC Ard
Y TST FT &aT gl GIT & YRY T oI 31T a AT A FRa¥ URYHW aeeh
Bl 37U TerenT T U TUrgd TohdT g1 3T 9 # S 9 | 18@Ts & T &,
g TAad UIYH DT ol gl TEI & [Sd | AT T THLATedT 2T 7, I
Terch T ufeent o g 3muTR 31 fEdier fore@ g o SATUT Y o1 agg-
g9 I 1T AT 39D & 9 ey TR TROTIAT 3N AR 310] AR
Y Geg AT g T4 &, U 37T SITUTH Tele[e &7 Gad 3Teeh §U ¢ §
Pg1? ST (4t Teh IqAT g oo TIHH 3N T ER & 7 & #g
Tl = U Siter g BIE Y & Y[F [hdT g, elich Sfia W 3Fgd
TR R & AT & A TG W Ugd M| GG O Tg g 1oh TR h 93
3TR HGI o1 1 Siter # B¢ H-BIT GHSAT ST el i Hi T o7 37X
2T T T ThaT 31 VST I aTell Goit aeiiT §i ST P Ferd ST arer
TeRYL W TaSI UdThT Thgdl GehdT gl YUTTEHG a9, 3raTigH fofe,
T, et 3R FER & & o7 T 9w &ieh gt gl Ugd e gl
TehdT o1 = gl 3 “Iie, TaH SN I i AaT 3 df AT Gr
SITehaIT @l Shived Y 7T ITAF Pl Yid # T gl ST, STemart 37
TaIrel & HIHI #d TgI GhordT GG T AT

Sub questions

Question Number : 196 Question Id : 54592722216 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

TEHIT o1/ & GUeetal o1+ dTel alel 31 &

Options:

1. » ATALATEAT

2. v AHIT AT Aol
3. » PHedl

4. * AL PHeTe

Question Number : 197 Question Id : 54592722217 Question Type: MCQ Option Shuffling : Yes
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Correct Marks: 1 Wrong Marks: 0.25

YRT BT Tddad 2 § T gi= BT B 2

Options:

1. * YIMTeld ST

2. % TqSITdD TaGAT
3. = dep-ilich GHGATY
4. v 0 & UTd IS

Question Number : 198 Question Id : 54592722218 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Tehdt W & § FeleradT & el ST& g

Options:

1. = Z&I AT ITh

2. % AT GUAAT

3. v 2g e ue uiyH
4. = YT TagEmd

Question Number : 199 Question Id : 54592722219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GUTT DT Jrdd el A -

Options:

1. = T4
2. % T
3. = 3T
4. v U

Question Number : 200 Question 1d : 54592722220 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

‘3T S H UG ‘3T [ATHI DIIC §:

Options:

1. » Uqad
2. v 309l

3. * DI TG
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4. = qgTar=l

Question Id : 54592722215 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension
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Ten JTeATer fET T &1 ISR F YR W Uid R fGU A0 §
| ITCTET 1 €ATAYEh U AT Tcdsh Wl H IN fdehedl H &
ggr fasheq ol

o

HH 3ER] Siigel T AT AT & AN HV-AlaT ZgRT Yoird
qe-AEAT H AH F Agcd F THRR fRam g1 seier AeTgEy
T AT TIF-BIS-T-BIC HRT P T8T Tl ol &1 FioE & A
T ok 3ToT deh AT o [aldd TNSH i gl 30a e
T T TR TRAT 1 3T FER A S o o femng 2 T g,
a8 Tdd URAH &1 Fel &1 TR & [ode 8 3eaa 3T
HHET 32T &, 3o o S GRs# 71 & 3R &1 fegd
foed I& o ATl hY oMl Tgd-olgd T feam oT| 38+ a
3 AR o EORAT AT AEmarERT 3] AT & T3
AT I8 9 &, 9T 3ToT SA9Tel [9°d Rl Hed 3719 Yool 8T
g 1?7 HRT TF T 3cad & Had IRAH 3T TR 9891
& AT 8 Al Uod o 39T g ERlS Bl ¥ H &
orar &, difehel Siigd 9T U URSH il T Sealld & LA
ey W q§u AT T ar TE & F §OR & §2 AW A
A o Sidel H B¢ H-BIET AT Silad dlell wRI HT LT ol el
AT ogT I ToraT fopaT &1 =T S aren ghoi“l JelloldT &1 TR
T gad T AT TalEe W a1 gdreT hadl Tahdl gl
WWWW@'&@@W%I%&Hch?*@%‘
Il THA 3N T T &TAAT & A 370l ARY TFTAT HY
Ficad T 3HTe 322 Hr qict & fawa g smad, sramd 3R
ot & wsfid AT @ Theldl JFER TOT A |
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Sub questions

Question Number : 196 Question Id : 54592722216 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

ST ST & TholdT dTge dTel dTel &id &:

Options:

1. = HTIGRITel

2. v AFATY ATl
3. * ShAAET

4. = FHUT FHATET

Question Number : 197 Question Id : 54592722217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR FT THET 82T H o 8l T T &:

Options:

1. = siENTeleh el

2. = JTolalllceh SgaTaT
3. = dehallleh THEITT
4. v FH F Tid 3SETd]

Question Number : 198 Question Id : 54592722218 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T o a7 A Tafzaar & Pl ST &

Options:

1. = E{\Hﬁ FT 3R]

2. % TR HYeaAdl

3. v T¢ foleTy va gl&mA
4. = gITA+ Qead

Question Number : 199 Question Id : 54592722219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GET IT ON
Google Play
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Addad?

Yo’ &1 300 [AoH =g &

Options:

1. = IR
2. % foredeT
3. = 3Thad
4. v @Y9eaT

Question Number : 200 Question Id : 54592722220 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

‘T efsg & TIFT 3T TR0l HhITC &

Options:

1. = UcIT
2. v 398t

3. * & g

4. = TIEET
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